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ﬁ [PHYSICS] }]

1. From a disc of a radius R and mass M, a circular hole of diameter R, whose rim passes through
the centre is cut. What is the moment of inertia of the remaining part of the disc about a
perpendicular axis, passing through the centre?
(1) 15 MR?/32 (2) 13 MR?/32 (3) 11 MR?/32 (4) 9 MR%/32
T M g2 f3sar R &) fell fovp O R 19 &1 B3 dodioR g 39 UbR bicl il 8, fb Sga 9 fon
D B A Yo | 76 & AN 91T F1, 36 & THaq 9D s A [k dlel e D IR STecd AT T 7 7
(1) 15 MR?/32 (2) 13 MR?/32 (3) 11 MR?/32 (4) 9 MR%/32

Sol. 2

M 7R? (RY

2 2 X Xy 2
MR R 4 \2) M (R
2 2 4

2
o=
L 7R?
MRZ [M M
T T2 T |32 16
1 3 13MR?
- e (335 = S5
2. A square loop ABCD carrying a current i, is placed near and coplanar with a long straight conductor
XY, carrying a current I, the net force on the loop will be :
Y B C
e L
Y L -
2p,li uoli 2p,IiL polil
(1) 3n (2) 2n = 3n (4) 2n

2. DI THR 9 (fd) ABCD 599 aR1 i garizd @1 &1 2, fbdl o WY =rets XY a9 ar1 1 yarfd 81 &
2, ® dc td & ad H§ @1 | 39 U R I Il A gel B —

Y B C
A Ci ]
cl A D
L2 L f
2u,li ol 2u,liL poliL
(1) 3n (2) 2n (3) 3n (4) 27
Sol. 1
Mol iL - Hol Lo moliL {2_2} : 2p,li
27l 3 3n

2n(L/2) 27{3Lj' '
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3. The magnetic susceptibility is negative for :
(1) diamagnetic material only
(2) paramagnetic material only
(3) ferromagnetic material only
(4) paramagnetic and ferromagnetic materials
3. DI GURTT FOTHD Bl 8
(1) dad dle—g=ag uared & foy
(2) FITFED AR Ale—g=ara yael & foy
(3) daa yfag=e ya1ed & fog
(4) dad sggEDIY g & foy
1

Sol.
x. = —1 for diamagnetic material only

4, A siren emitting a sound of frequency 800 Hz moves away from an observer towards a cliff at a
speed of 15 ms. Then, the frequency of sound that the observer hears in the echo reflected
from the cliff is :

(Take velocity of sound in air = 330 ms)
(1) 765 Hz (2) 800 Hz (3) 838 Hz (4) 885 Hz

4, 800 Hz 3mafy & ey S HR aiell Bls XA fH) UeTdh F T e $l R 15 ms 1 &) a7t H T © |
9 99 @ @1 afa {51 IgM | wRiafid ufdeaf & wu 4 98 Yerd gAadar g, & srl?

(g ¥ = @ = = 330 mst i)

(1) 765 Hz (2) 800 Hz (3) 838 Hz (4) 885 Hz
Sol. 3
) nv ]
= v_ov,
330 o *
=800 X ——— = 838 Hz n' s )
315
.. Observer hears
n" = 838 Hz —
5. A capacitor of 2 pF is charged as shown in the diagram. When the switch S is turned to position
2, the percentage of its stored energy dissipated is :
=
S
V== ==
2uF] 8uF
(1) 0% (2) 20% (3) 75% (4) 80%

5. ANW H Y JFAR 2uF a1iRar & bl FeniRa &1 sraee fbar 11 & | o9 Raa S &1 Reifd 2 o gHrn S
2, dl o9 GfRia Sofl &1 ufaerd &g 8 —

2uF BEN

(1) 0% (2) 20% (3) 75% (4) 80%
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Sol.

Sol.

Sol.

a4
1
U1= ECV2
1 GG,
AU=5 ¢ +cy Vim\or
1(2x8 6
AU = >|Tg | x 10 (V2)
AU 8 :
U, ><100=E x 100 = 80%

In a diffraction pattern due to a single slit of width ‘a’, the first minimum is observed at an angle
30° when light of wavelength 50004 is incident on the slit. The first secondary maximum is
observed at an angle of:

(1) sin! (lj (2) sint (Ej (3) sin! (lj (4) sin! (Ej
4 3 2 4

9 =rers ‘a’ B fdl tehd 2/ TR 50008 RS BT UHTel AU Bl 8, a1 B3 B R S [aa e
H 30° ® BV R Ugen (AT fRwrs <ar g | usen e Sfras 59 @ wR fewrg < |, a8 =

(1) sin! (lj (2) sin? (E) (3) sin? (lj (4) sin! (Ej
4 3 2 4

4

. A 5000 x1071° 1

sing=—=——— = —
a a 2

a=10 x 1077

for first sec. maxima

At what height from the surface of earth the gravitation potential and the value of g
are -5.4x107] kg? and 6.0 ms? respectively? Take the radius of earth as 6400 km.

(1) 2600 km (2) 1600 km (3) 1400 km (4) 2000 km

gl & U | bl $aTs W Yoy faWd 3R JHedd @RO g & 719 A —5.4x107] kg2 3R 6.0 ms2 Bd
2? vl @1 s 6400 AL fafsg —

(1) 2600 km (2) 1600 km (3) 1400 km (4) 2000 km
1
GM
Vg =" R+h
GM
9= R+h? =
V, 5.4x107
5 —R+h= 5
R+h=9x 106
h = 9000 - 6400
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8.

Sol.

Sol.

10.

10.

Out of the following options which one can be used to produce a propagating electromagnetic
wave?

(1) A charge moving at constant velocity.

(2) A stationary charge

(3) A chargeless particle

(4) An accelerating charge

T ey T Readl § 9 fFas ST ve §aRd faga gee a3 S &) 4§ {Ha1 51 Fdhdr 82
(1) a9 & wIfa BT e

(2) Rer ammaer

(3) JMIET P

(4) P13 @RT e

4

By theory

Two identical charged spheres suspended from a common point by two massless strings of

lengths I, are initially at a distance d (d<<lI) apart because of their mutual repulsion. The charges

begin to leak from both the spheres at a constant rate. As a result, the spheres approach each

other with a velocity v. Then v varies as a function of the distance x between the spheres, as :
1 1

(1) L, xx2 (2) v e x 3) bex2 (4) vocx?

el Swafrs fag @, o=1E | 1 Q1 SAMeE SINAT 9§ Feifda, 31 Jaw ¥ el R Ufddy o & $HIRT,
IR™ H TH—qER 9 d (d<<I|) §A W & | A1 & Tl § TP Id % F a2 HT &R RS BNl 8, iR TH/D
IROTARGEY el Teh ¥R 1 AR 97 v | 30 &, 9 el & d1d Bl gR), X S BeAd & wd H 97 v BT =R fbd
w9 ¥ BAl g ?

1 1

(1) L ox2 (2) v x X (3) b x2 (4) b o x1
3

2
Tsine=kdi2 ; Tcosb= mg
kg d

mgd® ~ |
q? oc d3 ;o qoc d32

dq 3
gt * 2 ¥dv

dq
dt

tan 6 =

= constant

1
Vocﬁ

Voo X712

A uniform rope of length L and mass m, hangs vertically from a rigid support. A block of mass m,
is attached to the free end of the rope. A transverse pulse of wavelength A, is produced at the
lower end of the rope. The wavelength of the pulse when it reaches the top of the ropes is1,. The
ratio A,/A, is :

I'Tl1 I'T11+I'Tl2 I'Tl2 I'T11+I'Tl2
(1) m, (2) Tm, (3) m, (4) Tm,
SHHE M, AT AHS L B DS Thadr R BN 96 < W FEieR A 8| 39 WA b gaad R 9 gegd

m, &1 HIg JH] ST 8 | IR & o R IR GQed A, BT DIy AJIY W< I~ bl Srar 8 | afe [0 &
Y b UgET R T WS Bl R A, B Sl &, 99 AU A, /A, BT A & —
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Sol.

11.

11.

Sol.

12,

12,

Sol.

m, m, +m, m, m, +m,
(1>\/m:2 @\ (3) E O
2

T,=(m,+my)g
Tension T, =m, g

\/? A,
V=nN\A=,—
n

Mo T m, M
v, A, VT, T \m;+m,

Vi
L™
}\‘1 m2 \l,
Ay — \m;+m,
Ay m, + m,
7\‘1 - m2

A refrigerator works between 4°C and 30°C. It is required to remove 600 calories of heat every
second in order to keep the temperature of the refrigerated space constant. The power required
is : (Take 1 cal = 4.2 Joules)

(1) 2.365 W (2) 23.65W (3) 236.5W (4)2365W

PIE fhovex 4°C 921 30°C & §i9 BRI &Rl = | TaH B S drel 9 &1 drg g weq @ forw 600 S

ST Bl UG JHTS d1eR BT Maedd e1dl 8 | 39 folv mavgss ofad @1fae — (1 cal = 4.2 Joules i)

(1) 2.365 W (2) 23.65W (3) 236.5W (4)2365W
3
T, = 303
T, =277

_ 6 _ 0, T 0,
T~ w=6-6 " T-T, T, work
0, 277 - 600 —
W 26 10.61 0,
W = 6, _ 600x4.2 T,

10.61 10.61

= 236.5

An air column, closed at one end and open at the other, resonates with a tuning fork when the
smallest length of the column is 50 cm, The next larger length of the column resonating with the

same tuning fork is :
(1) 66.7 cm (2) 100 cm (3) 150 cm (4) 200cm

TP RR R g T R R R Gl $Is arg & (Bl WRT fgYs & A1 9 99 18 $Ral & o9 39 d1g
T B FH—A—FHF =g 50 AL Bl | o @RT BT & 1 AR HRA drell W™ B 3TTA! TSN AR
%.

(1) 66.7 cm (2) 100 cm (3) 150 cm (4) 200cm
3
A
l, = 2
L= 3
> 4 24
I 3l

N
I

1_%0 cm
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13.

13.

Sol.

14.

14.

Sol.

15.

15.

Sol.

Consider the junction diode as ideal. The value of current flowing through AB is :

A 1kQ B
P W
(1)0A (2) 102 A (3) 10t A (4) 103 A
T SIS BT eI AFBR fAaR BT | AB & arfed &IRT &1 419 & —
A 1kQ B
+4V > T 6y
(1)0A (2) 102 A (3) 10t A (4) 103 A
2
i=V, -V, =+4-(-6) = 10
10 ona POl NI
1000 A 1kQ B

The charge flowing through a resistance R varies with time t as Q = at - bt?, where a and b are
positive constants. The total heat produced in R is :

a’R a’R a’R a’R
(1) b (2) TS (3) > (4) .

oY ufaR1er R & waTfad 19 &1 99a t & 312f faaRvr Q = at — bt2 & wU # Il §, T&l, a d2f b &S Fadie
IR IUA G FHT & —

a’R a’R a’R a’R
Y ) 3 ) 2 Ay
1
Q = at - bt
~de =3
|—dt—a—2bt i=0

a
t 5
H = i?RT dH = I?Rdt
a/2b
_ j (a—2bt)?Rdt - R j (a® +4b%t? — 4abt)dt
0
t2  4abt? 2 a® 4b%( a®> )| 4ab( a°
2 2 - . | Dnpipe— |
=R|:at+4b g— > :L =R|:2b+ 3 8b3 2 4b2
Ra® [1,1 1] aR
" b 2 6 2] &b

A black body is at a temperature of 5760 K. The energy of radiation emitted by the body at
wavelength 250 nm is U,, at wavelength 500 nm is U, and that at 1000 nm is U,. Wien's constant,
b = 2.88x10% nmK. Which of the following is correct?

(1H)u, =0 (2)u, =0 (3) U>U, (4) U>U,

P BB 5760 K A0 R & 399 v gR1 Scafold fafewell &1 o, aeed 250 nm W U,, d37eed 500 nm
W U, @ dRaeed 1000 nm W U, 8 | dF—faaie, b = 2.88x 108 nmK & | el fean a1 I ww el 82

(1)u, =0 (2)u,=0 (3) U,>U, (4) U,>U,
4
b
M=T
_2.88x10°
5760
= 500
u, = max

u, > u,
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16.

16.

Sol.

17.

17.

Sol.

18.

18.

Sol.

Coefficient of linear expansion of brass and steel rods are a, and o,. Length of brass and steel
rods are |, and |, respectively. If (1,-I,) is maintained same at all temperatures, which one of the
following relations holds good?

(1) ol, =l (2) of =al (3) oll, = o, (4) ol =a,l,

idet (F14) 3R Wil 31 Bl & JJe AR & [UNd HAY: o, AR o, 8 | 4Idd 3R LIl B Bl P o1sal
A | SR, 8 1 Afe (1,-1,) B 9 adi & fog q9 91 SR, q9 A @y 10 el § 9 el a9 8?

(1) ol, =al (2) of =al (3) oll, = o, (4) ol =a,l,
4

Al, = Al

la,At = LAl

|1a1 = |2a2

A npn transistor is connected in common emitter configuration in a given amplifier. A load resistance
of 800 Q is connected in the collector circuit and the voltage drop across it is 0.8V. If the current
amplification factor is 0.96 and the input resistance of the circuit is 1920, the voltage gain and
the power gain of the amplifier will respectively be :

(1) 4, 3.84 (2) 3.69, 3.84 (3)4, 4 (4) 4, 3.69

¥ few 1y yaei® # @I npn gifvRer SWafs Scauie o= # FaIird 8 1 800 Q &1 dIg oS UfaRie FuTed
gRuy § FAIRTT B &R g9 RRI W 0.8V fawgurd 2| af ar1 yade o 0.96% @ den gRue &1 e
iRy 1920 %, d1 39d Yadd &1 dicedl il dor vfad ofer »aer: 8ef

(1) 4, 3.84 (2) 3.69, 3.84 (3)4, 4 (4) 4, 3.69

1

By theory

The intensity at the maximum in a Young’s double slit experiment is I,. Distance between two
slits is d = 51, where A is the wavelength of light used in the experiment. What will be the
intensity in front of one of the slits on the screen placed at a distance D = 10 d?

I 3 I
L (2) 3 (3 7k ) >
I & B fg 3rdt vl & Sfeas @ digar I8 1 <M1 iRAl & &= 91 g8 d = 508, @81 L 7T # SwimT by
Y YBT B R 2| {6 ub 3R & 9= g D = 10d ?
I 3 I
(1) I, (2) ZO (3) 7k (4) 3"
4

.2
I =1,cos* |5

AX =dsin®

2
¢=7Ax=7ndsine

27 .
= — X in
X 5\ sin 6

d

10 n X 2
J10d)* +(d/ 2)?

d
2x10d

= 10n X
= /2

2 | X
I =1,cos* |3

I
2
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19.

19.

Sol.

20.

20.

Sol.

A uniform circular disc of radius 50 cm at rest is free to turn about an axis which is perpendicular
to its plane and passes through its centre. It is subjected to a torque which produces a constant
angular acceleration of 2.0 rad s2. Its net acceleration in ms= at the end of 2.0 s is approximately:
(1) 8.0 (2) 7.0 (3) 6.0 (4) 3.0

favmATaRen # Rerd 50 cm 3501 @1 BI85 THAAM IdR %6 U1 T & of=ad IR s 9 ol dlel 31eT &
oRa: e & fory Waa 21 39 o R #1891 Mgl &1 wvar 8, o 399 2.0 rad s2 &1 Fad i @R
IO TR qal g1 2.0 S D YA Ms2 H FABI - @RI BN T —

(1) 8.0 (2) 7.0 (3) 6.0 (4) 3.0
1
= Ia
a:
a=ra
a—%x2=1
a, =1
Vv=u+at
=0+2
v=2
v2 4
a = — —E—S
a=, a+a
= 4J64+1
= 8 (approx)

An electron of mass m and a photon have same energy E. The ratio of de-Broglie wavelengths
associated with them is :

1
1( E )2 E )2 1 1(2m\"?
(1) E(Rj (2) (mj (3) c(2mE)? (4) ;[?j
(being velocity of light)
SEM M & Soldg i dofl ¥l BIEH @1 Holly Udh FHM 8 | S99 G SI—siell aued H1 3ud 2

@ Yo @ (= (3) camey @ 2]

(TET c UBT BT I B )

7\‘e= 2m.E (1)

_h 5
M= (2)

B kphoton = ?
h

Ae
A
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21.

21.

Sol.

22,

22,

Sol.

E

I
p (o} 2m

> |2

A disk and a sphere of same radius but different masses roll off on two inclined planes of the
same altitude and length. Which one of the two objects gets to the bottom of the plane first?
(1) Disk (2) Sphere

(3) Both reach at the same time (4) Depends on their masses

DI3 S IR D13 Mell, e oAy F9M Wy [ A= 2, FHF S=Id1e iR a8 & &1 f+d J9dai IR

Jehd T 39 S AUvSl § A Tl d% ygd DI GEA —

(1) few (2) wiren
(3) T vF & | ugAN (4) 39 TaAHl R AR BRar &
2
20+ K2 /1)
t= gsin®
L)
-
sphere

The angle of incidence for a ray of light at a refracting surface of a prism is 45°. The angle of
prism is 60°. If the ray suffers minimum deviation through the prism, the angle of minimum
deviation and refractive index of the material of the prism respectively, are :

1 1
(1) 45°; N (2) 30°; 2 (3) 45°; 2 (4) 30°; N

ooy & fodl suad® U WR B g fhror & forv muds w11 &1 919 45° ® | 59 @ivr &1 99 60° 7 | If
T fvor s & =gaw faafaa el 8, @ =mas fa=as @191 qen fOsH & uened &1 suadis Ha: & —

1 1
(1) 45°; N (2) 30°; 2 (3) 45°; 2 (4) 30°; N

3= 2i-A

= 2 x 45° - 60
=90 - 60

= 30°

S“_(A+6mj

p=_\ 2 J
sinA/2

. (60+30j

sin

L2 )
sin30

sin45
sin30
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23.

23.

Sol.

24.

24.

Sol.

25.

25.

When an a-particle of mass ‘m’ moving with velocity ‘v’ bombards on a heavy nucleus of charge
‘Ze' its distance of closest approach from the nucleus depends on m as :

(1) = (2) — (3) % (4) m

m Jm m?

STY A 'm' TAT 9 "0 I IAHE B o~HU ‘Ze’ IhY & B IR) FA1fie IR gHIR) BT 8, Al SHD] ATHD
d Adcad ITHE & 8, m R 39 UHR AR ot & —

1 1 1
(1) — @ I (3) — (4)m

1
U +K=U+K,

0+ l my2 = kze + 2e
2 r

A particle of mass 10 g moves along a circle of radius 6.4 cm with a constant tangential acceleration.
What is the magnitude of this acceleration if the kinetic energy of the particle becomes equal to
8x10* J by the end of the second revolution after the beginning of the motion?

(1) 0.1 m/s? (2) 0.15 m/s? (3) 0.18 m/s? (4) 0.2 m/s?

10 g STHM &1 i HU1 6.4 AH. o= B & 99 & e ol Fad wei—d @Ror 9 1fd &=xar & | afe
A RS A & UL &l URBPAN T B TR FHYT Dl IS Holl 8x 10+ J 81 TIRiT 7, AT 59 @RI BT GRkAT0]

w7 8?

(1) 0.1 m/s? (2) 0.15 m/s? (3) 0.18 m/s? (4) 0.2 m/s?
1
r=6.4cm
m = 10 gm
1 1
Emv2=8><10'4 ; 5><10'2v2=8><10'4
v2=16 x 102
v =0.16
v2 = Uu? + 2as
16 16 64
100 X100 -2 X% 2" X To0x10 * 2
1 1
a= 27 =628 0.15

The molecules of a given mass of a gas have r.m.s. velocity of 200 ms* at 27°C and 1.0x10°
Nm-= pressure. When the temperature and pressure of the gas are respectively, 127°C and
0.05x10°Nm2, the r.m.s. velocity of its molecules in ms is :

100v2 100

400
(1) 10042 2 7 (3) = (4) =3

g 27°C 3R &9 1.0x10° nm2 W fa=f QT 10 gem @t 19 & 37l &1 o "’ Jei(rm.s.) &1 200 ms™ & | 519
39 9 & A9 3R g9 $HHA: 127°C 1 0.05x105Nm22, dl ms™ H 59 I/9 & 37URlT & ¥ Ard Jol &1 8 —

400
(1) 10042 @ 5 (3) 1002 (@ 3
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Sol. 2
T = 300
P=10°
V.. =200
Vo JT
Vv, /400
Vi V300
400
2~ |3
26. A long straight wire of radius a carries a steady current I. The current is uniformly distributed

26.

Sol.

27.

Sol.

a
over its cross—section. The ratio of the magnetic fields B and B’, at radial distances > and 2a

respectively, from the axis of the wire is

(1) 7 2 5 (3)1 (4) 4
Progr a & e o WY IR A PIs AR R I ga1fed 81 W& 8 | 39 AR B JIIURT Ple W URT VHFAM Y

ﬁﬁﬁﬁﬁ%lﬁl’\’@iﬂ&‘lﬁﬁ@iﬁﬁ;ﬁR’ZaWEﬁwtﬂ‘ﬂ?ﬁHﬁaﬁ B 3R B' &1 31U 2 :

1 1
(1) 2 (2) 3 3)1 (4) 4
3
HoIrz — T~
B, 2R 1
= I
B, ;—;d a/2
>
wl(R / 2)2 a
i _ ZTER — 1 A 1
B, ~ I . T~
2 Ho |
2n(2R)

A particle moves so that its position vector is given by ¥ = coswtX + sinety . Where o is a constant.
Which of the following is true?

(1) Velocity and acceleration both are perpendicular to

(2) Velocity and acceleration both are parallel to

(3) Velocity is perpendicular to r and acceleration is directed towards the origin.

(4) Velocity is perpendicular to r and acceleration is directed away from the origin.

PIS H $H UHR T H3al B b Sd1 Rafd Afder F = cos wtX + sinoy gR1 Fwd fear 1 8, 981 o th
fraare B f=falad 9§ & 9 suw 9@ 87

(1) 97 3R @ROT S & F b a2 |

(2) I 3R RO ST A F B AR B |

(3) I F & oFEaq § a1 @Rl o fag 9 iR felRia 2
(4) I F & or9aq B 9UT TRUT Hd fag A g @ &R el B
3

rt = cos wti + sin otj
V=-0osinoti+ ocos otj
a = - o cos oti — v? sin otj
rv =0
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28.

28.

Sol.

29.

29.

Sol.

30.

30.

What is the minimum velocity with which a body of mass m must enter a vertical loop of radius
R so that it can complete the loop?

(1) JgrR (2) {2gR (3) 39R (4) J59R
R a1 & fdll Sealer urer () § m SogdE & Bl fUve & fe fFras 9w 9 yaen &3 =2y f& gz ure
B gul B qD ?

(1) JgrR (2) J29R (3) {39R (4) 5gR
4
By theory

When a metallic surface is illuminated with radiation of wavelength %, the stopping potential is V.

Vv
If the same surface is illuminated with radiation of wavelength 2%, the stopping potential is ik

The threshold wavelength for the metallic surface is :

(1) 4 2) 5 (3) 21 ) 3
19 f ¥l erfcass U @1 dRTeed A @ fafdxol 9 g fan S g, 1 AR g Vg | 3fd 39 us @ aviesd 20

%ﬁ%ﬂﬁﬁg‘qﬂﬁmw,aﬁﬁﬁsﬁﬁw%ﬁm%léﬂmﬁ%ﬁwaﬁéﬁmuﬁ%:

5
(1) 4r (2) 5x (3) 5% (4) 3
4
h—C—w+ev ; h—C—w+ﬂ
A S T 4
h
i— +TC_W . @-4 +E_
T e lE @ OF |
hc

3W—T

_ hc

Ty
A = 3%

0

A gas is compressed isothermally to half its initial volume. The same gas is compressed sepa-
rately through an adiabatic process until its volume is again reduced to half. Then :

(1) Compressing the gas isothermally will require more work to be done.

(2) Compressing the gas through adiabatic process will require more wore to be done.

(3) Compressing the gas isothermally or adiabatically will require the same amount of work.
(4) which of the case (whether compression through isothermal or through adiabatic process)
requires more work will depend upon the atomicity of the gas.

ol 19 @ I ©U ¥ S MY A ddb Auifsd fHar SIar 21 S I @1 U9S ©U A wees gfhar
RIS A IR db Fafsd fbar S g1 d9 :

(1) 9 &1 FEATI Ufha1 3feral wEes TF1 H Hal GAM R SR DI AaeddHdl R |

(2) TR FHArdY ufhar gRT ANfed B 1Udr wees Ufthar gRT AAfSd &, fhd g # ifds wrd wve
D1 IMETIRAT B, I8 VF PI URAYDHAT TR FHR BT |

(3) T B FHATGT YA gRT WOST B # Nfdd Brf B BY MagaHar Bl |

(4) 19 B HUTH Yhar gRT AN R H fd B HRA B MIeIHT gl |
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Sol.

31.

31.

Sol.

32.

32.

Sol.

33.

2

AD

IT

V/2 v
WAD > WIT

A potentiometer wire is 100 cm long and a constant potential difference is maintained across it.
Two cells are connected in series first to support one another and then it opposite direction. The
balance points are obtained at 50 cm and 10 cm from the positive end of the wire in the two
cases. The ratio of emf’s is :

(1)5:1 (2)5:4 (3)3:4 (4)3:2

frdt fAyqam & IR & 1S 100 WA, © T 396 RRI & §9 #18 ad fAvydrar 9910 a1 ™1 21 <1 Jat
B1 SIONHA H ISl U GER Bl FERIdl B gY MR bR gh—ger @l fudia faemeii § waifora fan w21 7 1 39 <91
gaHRvll H I—fgg Rfd IR & gviead R 9 50 941 3R 10 9. 9 R urad 81l 8 | S Jal & emf &1
U T

(1)5:1 (2)5: 4 (3)3:4 (4)3:2

A astronomical telescope has objective and eyepiece of focal lengths 40 cm and 4 cm respectively.
To view an object 200 cm away from the objective, the lenses must be separated by a distance :
(1) 37.3 cm (2) 46.0 cm (3) 50.0 cm (4) 54.0 cm

el Telg R & JMEedd 3R AR® & Bied gRAT HA%: 40 cm 3R 4 cm B | 3fWewId | 200 cm

gx Rerd oAl 37 &1 <@+ & forg, <1 oiwl @ 4= @1 g3 2l =fey |

(1) 37.3 cm (2) 46.0 cm (3) 50.0 cm (4) 54.0 cm
4
T, 1 < = RN
v 200 40
=50 cm i
5-1
200 —> l /
200cm
_ 200
T4
.50 + 4 fo=40cm f.=4cm
=54 cm

Two non-mixing liquids of densities p and np (n > 1) are put in a container. The height of each
liquid is h. A solid cylinder of length L and density d is put in this container. The cylinder floats
with its axis vertical and length pL(p < 1) in the denser liquid. The density d is equal to :
(D{1+(n+1)pkp (2) {2+ (n+ 1)p}p {2+ (h-p}p @DA{1+(n-1)p}p



AIPMT Examination (2016) (Code - P) (Page # 15)

33.

Sol.

34.

34.

Sol.

35.

35.

Sol.

e gAR H AfE 7 89 ard Q1 g9, Ea '@ p i np (n > 1) B, fFN um # W 2| UdF g9 B SAE h
2 s LR g9cd d & fHd) 99 T 39 Ura | QT Ol 8| I8 9o U H 39 UHR Ol © b sqBT et
FeafeR YAl & qoT 396 ofF TS pl(p < 1) 99 gd ¥ Bl &1 O<d d &1 719 © :

({1 +(n+1)pkp (2){2+ (n+ 1)p}p {2+ (n-1)pkp @A) {1+ (n-1)p}p

=3 (1-p)L

=1L

XxAXxdxg=PLxnpxAxgx(1-P)LxpxAXxg
=PNp+(1-P)p

p(pn+1-p)

p [(1 + P (n-1)]

Co

(1))A=0,B=1,C=0 (2)A=1,B=0,C=0
(3)A=1,B=1,C=0 (4)A=1,B=0,C=1
T fou v gRuy ¥, farta 1 od 1 & forw 99w &1 98 =999 B

Co Y
(1)A=0,B=1,C=0 (2)A=1,B=0,C=0
(3)A=1,B=1,C=0 (4)A=1,B=0,C=1
4

y=(A+B):-C

y=A-C+B-C

Possibel when all ABC are 1 or when AC=10rA-B=1
From options 4 is correct.

A piece of ice falls from a height h so that it melts completely. Only one-quarter of the heat
produced is observed by the ice and all energy of ice gets converted into heat during its fall. The
value of h is :

[Latent heat of ice is 3.4 x 10°J/kg and g = 10 N/kg]

(1) 34 km (2) 544 km (3) 136 km (4) 68 km

I BT DS ghel Has h I 39 yHR ARar 2 f& ag gofa: fee Siar 2 | S 89 arell $™1 &1 $dcl Th—aleng
YFT B 9% g1 JAaefd fhar Srar 8 92 9% &) 9% Sofl 396 (IR 99T H™1 § wuif~aRd 8 S 8 | Ife
B P T S 3.4 x 105]/kg d2m g = 10 N/kg & @ S8 h &1 949 & —

(1) 34 km (2) 544 km (3) 136 km (4) 68 km

3

% mgh = mL

LA
g

_ 4x3.4x10°

B 100

136 x 103

= 136 km
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36.

36.

Sol.

37.

37.

Sol.

38.

38.

Sol.

39.

39.

Sol.

The ratio of escape velocity at earth (v,) to the escape velocity at a planet (vp) whose radius and
mean density are twice as that of earth is :

(1)1:2 (2) 1:242 (3)1:4 (4) 1:42
gl TR GSATIH I (v,) TAT S T& W GArdH I (v,) H R 3rgurd &, Rt Broan ol sied e gedl 9
GEEICECURIC IS

(1)1:2 (2) 1:242 (3)1:4 (4) 1:42
2

2GM 2G 4
= ,[— = |—.=nR?
Ve= R R 37 P
= wfgnGRzp

R’ = 2R
p'=2p
V), =22V

If the magnitude of sum of two vectors is equal to the magnitude of difference of the two vectors,
the angle between these vectors is :

(1) 0° (2) 90° (3) 45° (4) 180°

gfe g1 Ifew & I &1 IR S <1 AN & R & IRHYT & §RI&R 7, dI 39 AR & i B 8 ¢
(1) 0° (2) 90° (3) 45° (4) 180°

2

A+B=A-B

0 = 90°

Given the value of Rydberg constant is 10’ m-* the wave number of the last line of the Balmer
series in hydrogen spectrum will be :

(1) 0.025 x 10% m- (2) 0.5 x 107 m- (3) 0.25 x 107 m™  (4) 2.5 x 10" m™
Resv fadie &1 99 107 m-t {31 1 B | BssIiod WaeH &1 IR Ao B) If~qH e+ & a)9 Gl e
(1) 0.025 x 10% m- (2) 0.5 x 107 m- (3) 0.25 x 107 m™  (4) 2.5 x 10" m™

3

1 1 1

P [TSJ

1

X = 0.25 x 10? m!

A body of mass 1 kg begins to move under the action of a time dependent force F = (21;? + 3t23)N,

where | and 3 are unit vectors along x and y axis. What power will be developed by the force at

the time t?
(1) (2t + 3t3)W (2) (2t + 4t9HW (3) (2t + 3t%) (4) (283 + 3t5)W

1 kg 5=@M &1 13 fIvs &N F1enfa aa F = (2t] + 3t25)N, &1 § 3R J, x don y 311 & rgfew 7 wfkw
g, @ 3l I oTR™ PRl B, A1 9HY t W 39 9 gR1 fAbRaa wifad @ grfi?

(1) (2t2 + 3t3)W (2) (2% + 4t)W (3) (2t + 3t%) (4) (2t + 3t5)W
?= 2ti + 3t% (1)

m ‘(jj—‘t' =2t i+ 3t

vV = 2—;2]+3—§j wee(2)

p = f.v.

=23+ 3t w
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40.

40.

Sol.

41.

41.

An inductor 20 mH, a capacitor 50 uF and a resistor 40 Q are connected in series across a source
of emf V = 10 sin 340 t. The power loss in A.C. circuit is :

(1) 0.51 W (2) 0.67 W (3) 0.76 W (4) 0.89 W
fodl =d @t emf V = 10 sin 340 t 8, & &9t § 20 mH &1 W&, 50 pF &1 9aiiRa d2n 40 Q &1
yfeRige GaIfid 8 1 39 gradt ORT gRue § wifdd &g 2

(1) 0.51 W (2) 0.67 W (3) 0.76 W (4) 0.89 W
1
X_ = wL = 340 x 20 x 1073
= 68 x 10!
=6.80Q
1 1 10000
Xe = o, 340x50x10° 170 ~-°8

Z = /40? + (58.8-6.8)

— \40? +(52)

= 65.6

P =40% +(52)°

10\

91 <40
(5

65.6 x 65

~100x40
~ 2x4303.7

= 0.46
= 0.51W

If the velocity of a particle is v = At + Bt?, where A and B are constants, then the distance
travelled by it between 1s and 2s is :
7 A B

3 3
= ZA+ZB S
(1) SA+4B (2)3A+ 7B (3) 5A+3 (4) 5+3

afe fd w1 &1 97 v = At + Bt27, J21 A 3R B ReRri® B, dl 39 &1 gRT 1s iR 2s & 919 Feil T g4 8
A B

3 3 7
d A+iB 2,2
(1) 2A+4B (2)3A+ 7B (3)2 +3 (4) 2+3
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Sol.

42,

42,

Sol.

43.

43.

Sol.

3
V = At + Bt?

X = J'(At+|3t2)dt

A2 B3|
—_— + R
2 3

1

4-1 8-1
A5 | +B| 3
_3a4+78

2 3

A long solenoid has 1000 turns. When a current of 4A flows through it, the magnetic flux linked
with each turn of the solenoid is 4 x 10-3 Wb. The self-inductance of the solenoid is :

(1) 4H (2) 3H (C) 2H (4) 1H

5 o=t aReferat # BRI @) w1 1000 & | 519 39 gRAIrdT I 4A URT JaTfed el 8, 79 59 uRAIfed &

TS B W H9E gHEGI FoAdd 4 x 1073 Wb Bid1 2| 39 R & W-Udhd ® ¢
(1) 4H (2) 3H (C) 2H (4) 1H
4

_N¢ 1000x4x10°
1 4

L =1H

A small signal voltage V(t) = V, sin ot is applied across an ideal capacitor C :

(1) Current I(t), lags voltage V(t) by 90°

(2) Over a full cycle the capacitor C does not consume any energy from the voltage source.
(C) Current I(t) is in phase with voltage V(t).

(4) Current I(t) leads voltage V(t) by 180°.

BT oY Ryeel dieed V(t) = V, sin ot f&d sresl GaiRs C & RRI W srquygad @ T 8

(1) &1 I(t), dreear V(t) &1 90° uzd 8|

(2) v& qoi = H | C dreedl WA A PIs SHoll SUYT T8l Bl |
(3) g1 I(t) dreear V(t) & &l H |

(4) g1 I(t), dreedr V(t) & 180° 31 7|

2

Option 2 is correct because it is case of watt less current.
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44.

44.

Sol.

Match the corresponding entries of column 1 with column 2. [Where m is the magnification
produced by the mirror]

Column 1 Column 2
(A)m= -2 (a) Convex mirror
(B) m = —% (b) Concave mirror
(C)m=+2 (¢) Real image

(D) m = +% (d) Virtual image

(1) A>bandc;B—->bandc; C—o>bandd; D—»>aandd
(2)A—»>aandc;B—saandd; C—>aandb; D—>candd
(3)A»aandd;B—-sbandc; C—>bandd; D—>bandc
(4)A—>candd;B—->bandd; C—o>bandc; D—>aandd
B -1 31 Fd vlafiedl &1 e dfem - 2 &) ufaftedl & HIRTg | I8 'm' 907 gRT S~ JNaed 2 |

Hied 1 HictH 2

(A)m = -2 (a) ST g4
B)m = (b) et <o
(C)m=+2 (c) ardfas wfafew
(D)m= += (d) vy wfafawg

(1)A->bdc;B>bdc;C—>bdd; D—>add
(2)A—»adc;B—»add; C—>adb; D—>cad
(3)A»add; B—->bdc;C—>bdd; D—>bdc
(4)A—->cdd;B>bdad;C—>bdc;D—>add

1
- _2/ Concave
\ Real
- ;1/ Concave
2
\ Real
Concave
m =+2/
\virtual
. 71/Convex
m = 7\
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45. A car is negotiating a curved road of radius R. The road is banked at an angle 6. The coefficient

of friction between the tyres of the car and the road is p.. The maximum safe velocity on this road

is :

(1) gR? u, +tano 2) JoR u, +tano 3) g u,+tand @) %us+tan9
1-p tand 1-p tanod R1-p tand R*1-p, tanod

45. @IS HR A1 R B afehd Fed W A 2 | I8 ASH DIV 0 W @I 8 | R B TN AR ISP $ drd °y9] 0l

1B 39 WS W BR DI AfDHaH YRl I & |

tano +tano +tano +tano
RZ “5+ R us g us i us
W\ 1 e @1 tne G)\R1i-mtano ) \R21 4 tano
Sol. 2

n+tano
v= 97T ==
1-utano



ﬂ [CHEMISTRY] }]

46. Consider the molecules CH, NH; and H,0O. Which of the given statements is false ?
(1) The H - C - H bond angle in CH,, the H - N - H bond angle in NH;, and the H- O - H bond
angle in H,O are all greater than 90°.
(2) The H- O - H bond angle in H,0O is larger than the H - C - H bond angle in CH,
(3) The H- O - H bond angle in H,0 is smaller than the H - N - H bond angle in NH;
(4) The H - C - H bond angle in CH, is larger than the H - N — H bond angle in NH,
CH, NH; 3R H,0 3rupsli & ford =i f&d 13 @Ml § | I d 87
(1) CH, % H - C - H 3mdg—a1vl, NH; % H - N — H 3rdg—aIvl, dem H,0 § H- O — H afee—aior, wdl 90°
q 31 B |
(2) H,0# H - O - H am@eg—a1v, CH, § H - C - H 3&e—a10 4 3ifdd 8 |
(3) H,O0 % H - O - H am@u—a1o, NH; § H - N - H See—aIv1 31 &7 8 |
(4) CH, % H - C - H am@g—a1v, NH; § H - N - H 3rdg—®1o1 9 318 8 |
Sol. 2

47. In the reaction

- Cm o, Xty

XandY are:

(1) X = 1-Butyne ; Y = 3-Hexyne (2) X = 2-Butyne ; Y = 3-Hexyne

(3) X = 2-Butyne ; Y = 2-Hexyne (4) X = 1-Butyne ; Y = 2-Hexyne

ifAfram #

- C = U, X Wity

XARYZ:

(1) X = 1-9e= ; Y = 3-2=A (2) X = 2-&eTe ; Y = 3-zamEA

(3) X = 2-9EEA ; Y = 2-23RA (4) X = 1-9e1= ; Y = 2-z3mgd
Sol. 1

H-C=C—H_ NeN/ivt, ,H — C=C — Na

CH, — CH, —Br

H—C=C—CH, — CH,
1 - Butyne
CH; —CH, - C=C — H__NaN#/liaNt; , CH; — CH,— C=C — Na

CH, — CH, —Br

CH; — CH, — C=C — CH, — CH,

3 - Hexyne
48. Among the following the correct order of acidity is :
(1) HCIO; < HCIO, < HCIO, < HCIO (2) HCIO < HCIO, < HCIO; < HCIO,
(3) HCIO, < HCIO, < HCIO < HCIO, (4) HCIO, < HCIO, < HCIO < HCIO,
71 # | srrar &1 |8l HH B
(1) HCIO; < HCIO, < HCIO, < HCIO (2) HCIO < HCIO, < HCIO; < HCIO,
(3) HCIO, < HCIO, < HCIO < HCIO, (4) HCIO, < HCIO, < HCIO < HCIO,

Sol. 2
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49.

Sol.

50.

Sol.

51.

Sol.

52.

Sol.

The rate of first-order reaction is 0.04 mol I-1 s~ at 10 seconds and 0.03 mol I-1 s~ at 20 seconds
after initiation of the reaction. The half-life period of the reaction is :

(1) 24.1 s (2) 34.1s (3) 44.1 s (4) 54.1 s

TP YUH BIfe BT JAMfhar &1 977 rfAfhar y==1 814 & 10 sec 91€ 0.04 mol 171 s~1 @25 20 sec s1€ 0.03 mol

I-1 571 3| 39 SIffshan &1 org MY HTA o

(1) 24.1 s (2) 34.1s (3) 44.1 s (4) 54.1 s
1
0.04
log——
t, 0.03
t500/ - Iog&
’ 50
10 log4-log3 _ 0.60-0.48 _ 0.12 _ 1
t,, log2 0.3 ~0.30 3
1
tyo = % = % = 25 (24.1) sec.

Which one of the following characteristics is associated with adsorption ?
(1) AG is negative but AH and AS are positive

(2) AG, AH and AS all are negative

(3) AG and AH are negative but AS is positive

(4) AG and AS are negative bu AH is positive

=1 foaRaa aemli § 9 @9 A1 IftRive & F=fd 22

(1) AG vITcH® ifbT AH Td AS €HTHS B1d 8 |

(2) AG, AH TG AS Wl UITH® B 2 |

(3) AG TAT AH FOTHS offde AS €FTHS BT © |

(4) AG TAT AS FUITHS fhd AH €FTHS BIAT © |

2

inadsorption AG
AH{= ()
AS

In which of the following options the order of arrangement does not agree with the variation of
property indicated against it ?

(1) AI3* < Mg2+ < Nat* < F~ (Increasing ionic size)

(2) B < C < N < O (Increasing first ionisation enthalpy)

(3) I < Br < Cl < F (Increasing electron gain enthalpy)

(4) Li < Na < K < Rb (Increasing metallic radius)

fAfoiad 9 9 @ A1 %9 ¥ T quEH & uRadd & AR deAd T8l o7
(1) A3+ < Mg2+ < Na* < F~ (9gd gU 3R 3MaHR)

(2) B < C < N < O (9ga1 g3 YA AHH Tad)

(3) I < Br < Cl < F (dg<il g3 SolagI= W80 Uad)

(4) Li < Na < K < Rb (3 gz aifcas o)

2or3

Which of the folloiwing statements is false ?

(1) Mg?* ions form a complex with ATP

(2) Ca2* ions are important in blood clotting

(3) Ca2* ions are not important in maintaining the regular beating of the heart
(4) Mg2* ions are important in the green parts of plants
frfaRaa & 9 B9 A1 BUF 3 87

(1) Mg2* 3y QA & A1 Wl 991 2 |

(2) Ca2+ 3o Xad &I WM & fordl Agwyol & |

(3) Ca?+ 3o gy fd &1 afid e ¥ wegagel 78 2 |

(4) Mg2* o dieil & gRq Wi & ford Tecaol ¥ |

3
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53.

Sol.

54,

Sol.

55.

Sol.

Which of the following statements about hydrogen is incorrect ?

(1) Hydrogen has three isotopes of which tritium is the most common
(2) Hydrogen never acts as cation in ionic salts

(3) Hydronium ion, H;O* exists freely in solution

(4) Dihydrogen does not act as a reducing agent

fr=falRed § 9 o9 A1 $UF essoF & ford e/ ® ?

(1) EgsioM & I R & ROrad 9 grfcad wgRar 4 2|
(2) ETSSINH MM AU H Y9I B dRE AI8R Fal HRdl 2 |
(3) BrSIfEM 3mE, Hy0 &1 sifac e 4 Jad wu 4 8rar 8 |
(4) SEBESINH AUARH & ©9 § B T8l Bl 2 |

2

The correct statement regarding a carbonyl compound with a hydrogen atom on its alphacarbon is :
(1) a carbonyl compound with a hydrogen atom on its alpha-carbon never equilibrates with its
corresponding enol

(2) a carbonyl compound with a hydrogen atom on its alpha-carbon rapidly equilibrates with its
corresponding enol and this process is known as aldehyde-ketone equilibration.

(3) a carbonyl compound with a hydrogen atom on its alpha-carbon rapidly equilibrates with its
corresponding enol and this process is known as carbonylation

(4) a carbonyl compound with a hydrogen atom on its alpha-carbon rapidly equilibrates with its
corresponding enol and this process is known as keto-enol tautomerism

Praifaet A RIH o - BT R essioi SURYT B, & ford T8 $F &

(1) wrEifa e RaH o - ST RSO RAY] SuRYT 2, T8 39 IHY s F Bl ) araraRern § =&
B B

(2) rEife AE fTGH o - BT BTEgIord WRAY] IURT B, T8 B AR STl H AT AT=Iraen § e
2 3R I8 Uy Ufoceige PIeq ARl Hedidl § |

(3) wratfe e KT o - B TSI TRATY] SURT 8, I8 39 ATHY SAral H MM I AMRIERAT § 8
T 3R TE UhH HIaIfTelidRul HEar ® |

(4) wEifAa DE T o - BT STSgIor RAY IURT &, I8 S0 AR S1idl H AT Ar=rae § e
2 3R I8 UhH Pl sHTd IAadddl dealdl o |

4
N AN
C—C=0 C=C—
4 4 |
H OH
Keto form enol form

keto - enol tautomerism

MY and NY, two nearly insoluble salts, have the same KSp values of 6.2 x 10713 at room temperature.
Which statement would be ture in regard to MY and NY; ?

(1) The molar solubilities of MY and NY; in water are identical

(2) The molar solubility of MY in water is less than that of NY,

(3) The salts MY and NY; are more soluble in 0.5 M KY than in pure water.

(4) The addition of the salt of KY to solution of MY and NY; will have no effect on their solubilities

MY Td NY, &1 o 3Afdera ofaull &f S3R & did R K, B A, 6.2 x 10713 ¢ FA ¢ | 971 § & @19 @
HF MY Td NY, & v § & 8 ?

(1) MY @ NY; &1 STl § Arer faeradr |4 8 |

(2) MY @) 5T # drer fodn NY; d &9 8 |

(3) MY ©d NY; & @9 g Sid @1 g1 4 0.5 M KY # ma1 ferd 8 |

(4) KY &9 &1 MY Td NY; & fdera § Slefd W g9@! fdeiddl wR ®Ig y9g el gsdl ¢ |

2
My. S = Ky = 6.2x10" = J6.2x105

S, =8 x 1077
NY; = K, = S(35)3 = 275% = 62 x 10714
52: 10—3.5
S,>5S;

Solubility or Ny is greater than my
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56. In a protein molecule various amino acids are linked together by :

(1) a-glycosidic bond (2) B-glycosidic bond
(3) peptide bond (4) dative bond
WA ) F A= il orel Tah g 9 9 TEd
(1) a-TAEHINSH e & gRT (2) B-TSHIRIEH 368 & gRI
(3) eSS AEY B gRI (4) 31T M€Y & gRT
Sol. 3
Peptide b ends

0]
Il

Ly

Peptide bond

57. Natural rubber has :

(1) All cis-configuration (2) All trans-configuration
(3) Alternate cis-and trans-configuration (4) Random cis-and trans-configuration
YTHfad IR F
(1) ot R—fa=ama g1 (2) aft ¢ fa=aT 2 )
(3) varR Rg—vd gra—fa=mg 2| (4) Frafg Rg—vd gra—fa=am B
Sol. 1

Natural rubbar — cis configuration

58. Match items of Column I with the items of Column II and assign the correct code :

Column I Column II

(i) Ultrapure Ge

(ii) Dressing of ZnS
(iii) Extraction of Al
(iv) Extraction of Au
(iv) Purification of Ni

(a) Cyanide process

(b) Forth floatation process
(c) Electrolytic reduction
(d) Zone refining

Code :
@ (b)) (9 (d)
(1) (v) (i) )y ()
(2) i)y (i) (D) (iv)
3) O (i) (i) (iv)
(4) (i)  (iv) (v) (@)
W 1P ool bl WY [I & Sool@ A AR | I8 Tbd ugla 8-

wea L —
(a) <ifa g T (') afergg Ge
(b) &9 wa= fafy (ii) ZnS @1 yareE
(c) @ smee sm=aa (iii) Al @1 frepor
(d) wsar g (iv) Au @1 frepdo
(iv) Ni &1 2em
Earch

(@ (b) (o (d)
(1) (v)y i) (i) o (1)
(2) (i) @) () (iv)
3) (M (i) (i) o (iv)
(4) (i) (Gv)  (v) ()
Sol. 1
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59.

Sol.

60.

Sol.

61.

Sol.

62.

Sol.

63.

Sol.

Which one of the following statements is correct when SO, is passed through acidified K,Cr,0,
solution ?

(1) The solution turns blue (2) The solution is decolourized

(3) SO, is reduced (4) Green Cr, (S0O,); is formed

frferad § A B9 A1 B G & Sfd SO, Bl 3l K,Cr,0, & e § & urd foban oiren &7
(1) faera= el us 7 81 (2) foeres TEH 81 a2

(3) SO, u=fdd 2 2| (4) &1 Cr, (SO,); &a1 8 |

4

Green Cr,(S0,); is formed

The electronic configurations of Eu (Atomic No. 63), Gd(Atomic No. 64) and Tb (Atomic No. 65) are :
(1) [Xe]4f76s2, [Xe]4f8 6s2 and [Xe] 4f85d16s2

(2) [Xel4fo5di6s2, [Xe]4f” 5d! 6s2 and [Xe] 4/°6s2

(3) [Xe]4f55di6s2, [Xe]4f’ 5d16s? and [Xe] 4/85d16s2

(4) [Xeldf76s2, [Xel4f’ 5d16s2 and [Xe] 4f°6s2

Eu (u¥. 63), Gd (99. 64) R Tb (4. 65) & Scldgi=e =T =8:-
(1) [Xel4f76s2, [Xe]4f8 6s2 Tom [Xe] 4/85d16s2

(2) [Xel4fo5di6s2, [Xe]4f” 5d1 6s2 T [Xe] 4f°6s2

(3) [Xe]4f55di6s2, [Xel4f7 5di6s2 qum [Xe] 4/85d16s2

(4) [Xel4f’6s2, [Xel4f’ 5d16s2 q2r [Xe] 4/°6s2

4

Eu: [xe] 4f7 6s2

Gd : [xe] 4f7 5d! 6s2

Tb : [xe] 4f° 6s2

Two electrons occupying the same orbital are distinguished by:

(1) Principal quantum number (2) Magnetic quantum number

(3) Azimuthal quantum number (4) Spin quantum number

T sAd S f Uh B ded H T TH R fh9e gNI fRu W1 Aehdr ®7
(1) g odicqd g (2) gD wcH [

(3) fegash @@ien <= (4) THU F@icH HE

4

same orbital (e”)

1

are disting usished by

Spin Q.NO.

When copper is heated with conc. HNO; it produces :

(1) Cu(NO;), and NO, (2) Cu(NO;), and NO
(3) Cu(NO;),, NO and NO, (4) Cu(NO;), and N,O
HIR BT A% HNO; & W1 TH HR TR Il €

(1) Cu(NO5), 3R NO, (2) Cu(NO5), 3R NO
(3) Cu(NO;),, NO 3R NO, (4) Cu(NO;), 3R N,O
1

Cu + Con. HNO; — Cu(NO); + NO,

Which of the following reagents would distinguish cis-cyclopenta-1, 2-diol from the trans-isomer ?

(1) Acetone (2) Ozone

(3) MnO, (4) Aluminium isopropoxide

71 # 3 ®F W1 AfWeHe Rg—arsaaru<i-1, 2-S33ifd T 396 ¢la—\dagdl § HE Her?
(1) Tiie (2) 3N

(3) MnO, (4) T msHIdddTS S

1

MnO selective oxidising agent
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64.

Sol.

65.

Sol.

66.

Sol.

67.

Sol.

68.

The correct thermodynamic conditions for the spontaneous reaction at all temperature is :

(1)AH< 0and AS =0 (2) AH>0and AS < 0
(3)AH< 0and AS >0 (4)AH< 0and AS <0
T i R Affhar & wd: IRadT & R 98 Swrfad o 2

(1) AH < 0 g2 AS = 0 (2) AH > 0 g2 AS < 0
(3)AH < 0 q2am AS > 0 (4)AH<0danAS <0
3

AG = AH - TAS

= [(=) - [®] = (-) always = (-)]
AH<0,AS >0

Lithium has a bcc structure. Its density is 530 kg m=3 and its atomic mass is 6.94 g mol-1.
Calculate the edge length of a unit cell of Lithium metal. (N, = 6.02 x 1023 mol-1)

(1) 154 pm (2) 352 pm

(3) 527 pm (4) 264 pm

oM #1 bee VXA 2 | $9@1 g9 530 kg m™3 TN WA S¥HM 6.94 g mol-1g | ffH a1g & thd
PSP & BR B o= & (N, = 6.02 x 1023 mol1)

(1) 154 pm (2) 352 pm

(3) 527 pm (4) 264 pm

2

gmw x Z
N, x a3

6.94 x2
6x10%% x a°
6.94 %2
6x10%°x0.53

0.530 =

ad =

a3=4.36 x 10723 x 13

10
a3 =43.6 x 10724
a = (43.6)Y/3 x 108 cm

Which one of the following orders is correct for the bond dissociation enthalpy of halogen molecules ?

(A)I,>Br, >Cl, > F, (2)Cl, >Br, > F, > 1,
(C)Br,>1,>F,>Cl, (4)F,>Cl, >Br, > 1,
fF=faRad & | 319 B9 gare A 31 amay faaeH woded & forr @@l 87
(A)I,>Br, >Cl, > F, (2)Cl, > Br, > F, > 1,
(C)Br,>1,>F,>Cl (4)F,>Cl, > Br, > 1,

2

Cl;>Br,>F,>1,

Which of the following is an analgesis ?

(1) Novalgin (2) Penicillin (3) Streptomycin (4) Chloromycetin
/1 8§ 4 o9 A a1 te dEN ' |
(1) Traafe= (2) uffafers (3) BeMERE (4) TR
1
Novalgin analgeris as well as
antipyretic

Equal moles of hydrogen and oxygen gases are placed in a container with a pin-hole through
which both can escape. What fraction of the oxygen escapes in the time required for one-half of
the hydrogen to escape ?

(1) 1/8 (2) 1/4 (3) 3/8 (4) 1/2

gISeIoi Ud ifeiio 4l & |HM Aidll B U A1 @1 797 2, S {6 ve e g & gRT U &1 %9 2 |
TSN & MY Yalrdd § o 997 # iAo fhd=n i gerad &y?
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Sol.

69.

Sol.

70.

Sol.

71.

Sol.

1
1
I oc '—mw
r
Vi,
M, b, 32
r_ = V02 = —_
0, t 2
0,
1
2 _y,
Vo,
1
0, = §
v o« moles

Consider the nitration of benzene using mixed conc. H,SO, and HNO,. If a large amount of KHSO,
is added to the mixture, the rate of nitration will be :

(1) faster (2) slower (3) unchanged (4) doubled

JA BT AEHRYT A H,S0, Td HNO, @1 IuRerfd # 21 %81 & | afe 59 s &1 sarer 931 4 KHSO,, sterd

g al ASSIBR BT 97 BNI—

(1) aw (2) &R (3) sruRafda (4) T
2

slower

KHSO, — K® + HSO,"

@
H—O—N=0 + H® + HSO,~ — H—0--NO,

1 7
0 H
b
H,0 +NO,

If we the KHSO, than rate decreases.

Predict the correct order among the following :

(1) lone pair - lone pair > lone pair - bond pair > bond pair - bond pair
(2) lone pair - lone pair > bond pair - bond pair > lone pair - bond pair
(3) bond pair - bond pair > lone pair - bond pair > lone pair - lone pair
(4) lone pair - bond pair > bond pair - bond pair > lone pair - lone pair
71 4 & |8 BH B —

(1) ThTd! T - Thldl JFHA> Thldl ¥ - 99 ™ > 99 Y - 98 I

(2) THTH! g - Yhld! JFH > 98 TH - 98 JTH > Thldl TH - 99 i

(3) 99 g™ - 99 T > UhID! T - 98 TH > Thldl T - DDl

(4) ThTH! g - 99 JTH > 99 TH - 99 TH > Yhldl T - DDl

1

The product obtained as a result of a reaction of nitrogen with CaC, is :

(1) Ca(CN), (2) CaCN (3) CaCN, (4) Ca,CN
Arggre B CaC, & e AfAfhar I yra Iare ®

(1) Ca(CN), (2) CaCN (3) CaCN, (4) Ca,CN
Bonus
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72. Consider the following liquid - vapour equilibrium.
Liquid
Which of the following relations is correct ?
dinG AH, dinP —-AH, -AH, -AH, dinP AH
T

Vapour

Mg =re @ = O
I & T §9 - 9T ArRIERe,

=T W TRy

Q9 —— I
P A e WE B 2
dinG _ AH, dinP _ -AH, ~AH,  —AH, dinP _ AH
Mg =jre Bgr = vt Orr =7 ) 47 = ry?
Sol. 4
Liquid

Vapour

L AH(T,-T,)
09" = T3 3RTT,
AH

log,P = RT + log K

diP _ AH,
dT =~ RT?

73. Match the compounds given in column I with the hybridisation and shape given in column II and
mark the correct option.

ColumnlI Column I1

(a) XeFg (i) distorted octahedral
(b) XeO, (ii) square planar

(c) XeOF, (iii) pyramidal

(d) XeF, (iv) square pyramidal
Code :

(a) (b) (c) (d)
(1) (i) (iii) ~ (iv) (i)
(2) (i) (i) (iv)  (iii)
(3) (iv) (i) (i) (ii)
(4) (iv) (i) (ii) (iii)
T 14 oy T APl Bl S bRl U Jfdfa o b W= [I 8 @ T 8 & e den 98 ey o1 Riftea

DI |

w1 w11

(a) XeFg () fawa srewadg
(b) XeO, (i) o e

(c) XeOF, (iii) e

(d) XeF, (iv) T fifas

BIS !

(@ () (o) (d)
(ry () i)y (v) (i)
(2) () (i)  (iv) (i)
(3)  (iv) (i) (i) (i)
(4) (v) () (i) (i)

Sol. 1
XeFg dirtorted octahedral
XeO, Pyramidal

XeOF, Sqg. pyramidal
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74.

Sol.

75.

Sol.

76.

Sol.

77.

Sol.

Which of the following has longest C — O bond length ? (Free C — O bond length in CO is 1.128 A.)

(1) Ni(CO), (2) [Co(CO),I1* (3) [Fe(CO),1* (4) [Mn(CO)g1*
friforRad & & fraa C — O 3y oS a1 8? (Yod C — O arae oiwrs CO % 1.128 & )
(1) Ni(CO), (2) [Co(CO),I1* (3) [Fe(CO),1* (4) [Mn(CO)g]*
3
[Fe(CO),1*~
The pressure of H, required to make the potential of H, - electrode zero in pure water at 298 K is :
(1) 10~* atm (2) 10712 atm (3) 10710 atm (4) 1074 atm
298 KR g& oI § H, — Sagrs &1 fava =1 &7 & ford afawdd H, - 19 2 -
(1) 10-% atm (2) 10712 atm (3) 10710 atm (4) 1074 atm
1
2H* + 2e” — H,
(9)
PH
0.06 2

Ex = E; - 5 log |:H+]2

P

Hy

0 =0-0.03 log (1077)2 =0

P

Hy

0™

=1

P, = 1071 atm

The addition of a catalyst during a chemical reaction alters which of the following quantities ?

(1) Entropy (2) Internal energy (3) Enthalpy (4) Activation energy
o e ifafohar § SRS & AT 9 =falRaa § | B9 W@ 960 98 ® 2

(1) T (2) sniaR® Foil (3) VIR (4) Afdaor St

4

(TR N\ Ea decreases

s,
s,
S
\‘
s,
N,
.,
D
S

The ionic radii of A* and B~ ions are 0.98 x 101 m and 1.81 x 10719 m. The coordination number
of each ion in AB is :

(1) 6 (2) 4 (3) 8 (4) 2

At Tg B~ A1 &1 e 3eam 0.98 x 10719 m ud 1.81 x 10710 m B | AB ¥ Y% RIH &1 SUGSHATST
Rered|| %\':—

(1) 6 (2) 4 (3) 8 (4) 2
1
ro_0.98x10%

r  1.81x1071%
0.414 - 0.732 = NaCl =6 : 6
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78.

Sol.

79.

Sol.
80.

Sol.

81.

Which is the correct statement for the given acids ?

(1) Phosphinic acid is a diprotic acid while phosphonic acid is a monoproti acid.
(2) Phosphinic acid is a monoprotic acid while phosphonic acid is a diprotic acid.
(3) Both are triprotic acids

(4) Both are diprotic acids.

fr=foRad § A o9 1 $UF &Y T vl @ ford W ®7

(1) wiRwHe 3 fgWidie v B Safd BRWBINE® 37 ThUIcId 3 ¢ |

(2) BiR®MT 3 THUIEIS 3T B STafd BRI 3 fauidis 3 g |

(3) a1 BPud®s e B |

(4) <1 feuidle a7t 8 |

2

Phesphinic acid = H;PO,
Phasphanic acid = H,PC,

Fog is a colloidal solution of :

(1) Liquid in gas (2) Gas in liquid (3) Solid is gas (4) Gas in gas
gy Preiizel fAea+ g :

(1) 79 # g9 &1 (2) 5a 9 9 &1 (3) 9 # I B (4) 9§ I @
1

Which of the following statements about the composition of the vapour over an ideal 1 : 1 mol
mixture of benzene and toluene is correct ? Assume that the temperature is constant at 25°C.
(Given Vapour Pressure Data is 25°C, benzene = 12.8 kJ toluene = 3.85 kPa)

(1) The vapour will contain a higher percentage of benzene.

(2) The vapour will contain a higher percentage of toluene.

(3) The vapour will contain equal amounts benzene and toluene.

(4) Not enough information is given to make prediction.

1 H 9§ DT B Il doIl Siegsa @ U 3asl 1 : 1 Arel 80 R a1 S & Hecd & ford |al 8 ? Al
¥ dY 25°C R F9d g (&1 71 8 a9 9 $1er 25°C, dwi4 = 12.8 kJ Sfegzga = 3.85 kPa)

(1) a9 § 9= &1 I=d gfaera SulRkerd 281

(2) a H Sfegs &1 I=a ufderd SuRerd g8rm

(3) A H i dor Sfeggd &I aRTeR AT IuRd Bl

(4) 5O & ford T gaam T8 & E 2 |

1

Py PaX,
YA = P, T Pox, +Pox,
12.8x0.5
= (12.8x0.5)+(3.85x0.5)
6.4 6.4
641192 63 07
Y, = 0.76
yg = 0.24

The correct statement regarding the comparison staggered and eslipsed conformations of ethane,
(1) The staggered conformation of ethane is low stable than eclipsed conformation, because
staggered conformation has torsional strain

(2) The esclipsed conformation of ethane is more stable than staggered conformation, because
eclipsed conformation has no torsional strain

(3) The eclipsed conformation of ethen is more stable than staggered conformation even though
the eclipsed conformation has torsional strain.

(4) The staggered conformation of ethane is more stable than eclipsed conformation, because
staggered conformation has no torsion strain.

TIF & AMRT Td IR GV B oA & ford T8 FHAF 2

(1) w9 &7 QARG FHIY, T FHI0 F HH R & ®ife Jakd awuer § wRIS! s 8 |

(2) U9 &1 U GHIY, AART XU H ARG W R®ife 9% Fwuu § WR$! faawd 78 21

(3) T &1 U FHIY, ARG FHIU F 3ffdd il & Tafdh u3d Fwu § RIS e g
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Sol. 4
H HH
H\{ $ H i
H > H H
H
H H
Staggered Eclipred

82. The reaction

Me
NaH _ /
E>_OH > E}O() Na® Me-1 ) E>_O

can be classified as :

(1) Williamson ether synthesis reaction (2) Alcohol formation reaction

(3) Dehydration reaction (4) Williamson alcohol synthesis reaction
arfaferan

Me
NaH _ /
O_OH > E>._O() Na® _Me-T O—O

B TTepd fhar o1 odr &—

(1) faferra ger Heeryor ifAfea (2) Temiga fava= arfafssan
(3) fasteltaRor rfafean (4) faferr =g Yedbied eyl rfafsha
Sol. 1

williamon ether synthesis
Sodium alkoxide __R=X . Ether

83. The product formed by the reaction of an aldehyde with a primary amine is :

(1) Schiff base (2) Ketone  (3) Carboxylic acid (4) Aromatic acid

vfeserss va mufie vHIE @) JIfRfhar 9 991 SaE ®

(1) B 9= (2) freE (3) FEtfRIfers e (4) WHfesd v
Sol. 1

—CH =0+ H,N—R —» —CH=N—R
Schiff's base

84. Which of the following biphenyl is optically active?

O,N Br Br

o (Y oD
I I
CH,
2D w0
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1 94 9 o9 91 sEfbad yeide atha 27

Br Br

O,N
A= e =a
I I 1
I CH,
2 W=D
I CH,

Sol. 2
POS is not present

85. For the following reaction
(A) CH;CH,CH,Br+KOH —
CH;CH = CH, + KBr + H,,

H,C. CH, H,C. CH,

(B) Y + KOH— Y + KBr

Br OH
Br

O G
Br

Which of the following statements is correct?
(1) (@) and (b) are elimination reactions and (c) is addition reaction.
(2) (a) is elimination, (b) is substitution and (c) is addition reaction.
(3) (a) is elimination, (b) (c) are substitution reaction
(4) (a) is substitution, (b) and (c) are addition reaction
= ifafarent & for
(A) CH;CH,CH,Br+KO —
CH,CH = CH, + KBr + H,,

H,C. CH, H,C_ CH,

(B) Y + KOH— Y + KBr

Br OH
Br
(C) O + Br,— C[
Br
/9 5 9 o9 91 dF 9™ 8 7
(1) (a) R (b) faeua sfAfpard & den (c) ara Afafsar 2
(2) (a) faclga erfdfosan, (b) ufRemuw fdfbar &R (c) arm <ifafsar 7
(3) (a) faeium arfafear, (b) R (c) ufoRemus ifafdard 2
(4) (a) wferemmE, (b) 3R (c) arre sfAfpad 2
Sol. 2

86. At 100°C the vapour pressure of a solution of 6.5 g of a solute in 100 g water is 732
mm. If K, = 0.52, the boiling point of this solution will be :
(1) 101°C (2) 100°C (3) 102°C (4) 103°C
Th 6.5 g fdetld @1 100 g i@ H fder@m &1 100 °C &R a9 732 mm &l afe K, = 0.52,
dq s fAere &1 F@eEid 8-
(1) 101°C (2) 100°C (3) 102°C (4) 103°C



AIPMT Examination (2016) (Code - P) (Page # 33)

Sol.

87.

Sol.
88.

Sol.

89.

Sol.

90.

Sol.

1
AT, = iK, m

) 6.5x1000
AT, (i) (0.52) X100
_ 0.52x65
~  30.58
AT, = 1.1052
T, =101.1
T,! = 101

The correct statement regarding RNA and DNA respectively is

(1) The sugar component in RNA is arabinose and the sugar component in DNA is 2-deoxyribose.
(2) The sugar component in RNA is ribose and the sugar component in DNA is 2-deoxyribose.
(3) The sugar component in RNA is arabinose and the sugar component in DNA ribose.
(4) The sugar component in RNA is 2-deoxyribose and the sugar component in DNA is arabinose.
RNA td DNA & fod @@ @ w99 g

(1) RNA & 3 "ed RfIA B iR DNA # 9o "gcd  2-fefiriRizds 2.

(2) RNA # 9% gk 349 8 IR DNA # 3o ucd  2-fSsifriRisa g1

(3) RNA # 3% "ed RfIA 2 3R DNA # @Y Ucdh a9 Bl

(4) RNA ¥ 3o\ Tch 2-feifriRzad 3k DNA § 3 oced aRfeA 2

2

The correct statement regarding the basicity of arylamines is

(1) Arylamines are generally less basis than alkylamines because the nitrogen lone-pair
electrons are delocalized by interaction with the aromatic ring = electron system

(2) Arylamines are generally more basis than alkylamines because the nitrogen lone-pair
electrons are not delocalized by interaction with the aromatic ring = electron system
(3) Arylamines are generally more basis than alkylamines because of aryl group.

(4) Arylamines are generally more basis than alkylamines because the nitrogen atom in
arylamines is sp-hybridized.

WaudE & &aR&Gd & foll I8 AT T

(1) WegHE 9M=Ia: YfehaUdl § ®H &R Bl § Hifd ARgied & HdHI—JH soldgld WHeH
JId B n goldeld b @i favenfid B ® |

(2) WATHH HHRIG: UehdHM d WG] 8RBl 8 R®ifd A8god & YhHI—JH Sodg WHCH
CISE A = s cot s B TS | B 5501 [ [ B < O s MR

(3) tRa T8 & SRV WIATHE AHFAG: Uebagdd 9§ SIET aRYT B |

(4) TRATHR FF=Ia: Yool § SUIG1 &NII § Rl WIAHNE H ASgio WRATY Sp-HaRd ¢ |
1

Q'NHZ

Alkylamine
R—NH,
Resonance
not present
Resonance Pr
Which one given below is a non-reducing sugar?
(1) Maltose (2) Lactose (3) Glucose (4) Sucrose
= # 9 ll te IR—SmEd PIROR?
(1) #reer™ (2) e (3) gpr (4) gHE|
4
Sucrose

(anomeric part in not free)

The pair of electron in the given carbanion, CH; = Ce, is present in which of the following
orbitals?

(1) 2p (2) sp? (3) sp? (4) sp
R T Hd-FomEE, CHy = C°, & T ToagH e & & fow wee § SuRe @7
&1) 2p (2) sp? (3) sp? (4) sp
S
CH,—C=C

Sp hybridised
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91.

91.

Ans.

92,

92,

Ans.

93.

93.

Ans.

94,

94,

Ans.

Gause's principle of competitive exclusion states that:

(1) More abundant species will exclude the less abundant species through competition.

(2) Competition for the same resources excludes species having different food preferences.
(3) No two species can occupy the same niche indefinitely for the same limiting resources.
(4) Larger organisms exclude smaller ones through competition.

weft Jrugst @1 i | wEar §

(1) 31fde w¥er § Uiy o arel weiisT TOef gRT BH Gl § uig o drell |eiist &l sruafsfa &) <t |

(2) T FaEE & forg et 39 WS @I uafitd & ¢ S =1 TR & wiord W Sifdd w8 dadl 8 |
(3) PIz A 1 WS T & o § AT s/l @ forg 781 8 Ahd! Fifd AHreR] Gwme J9+ & 8 2 |
(4) JMUENHT 98 AMBR & Sild WEl gRT BIS Sigeli B 9rex dwrat < €

[3]

The two polypeptides of human insulin are linked together by:

(1) Hydrogen bonds (2) Phosphodiester bond
(3) Covalent bond (4) Disulphide bridges
A4 ggfo @ 3l UleilU<iss U 4 fhad gR1 dAifod 8 2?

(1) EESIoA T4 (2) BIEPISISUFRR T8

(3) ABEAS g7 (4) SIsHEHISS g

[4]

The coconut water from tender coconut represents:

(1) Endocarp (2) Fleshy mesocarp

(3) Free nuclear proembryo (4) Free nuclear endosperm
Fed AIRISA H, TRAS UM w1 27

(1) 3= werfifcy (2) RER HEIHAMRI

(3) WA= =Dl Yorgdi (4) [WaH DD Yoy

[4]

Which of the following statements is wrong for viroids?

(1) They lack a protein coat (2) They are smaller than viruses

(3) They cause infections (4) Their RNA is of high molecular weight
fr=forRaa 5 & &9 91 Bud arssidge & vy d g 87

(1) S8 UIEA 3MMaRYT BT 919 Bl ® (2) A fumRH | Newd BIe B1d 2|

(3) A FHHT B T | (4) STHT JRUAY. Sod 3MMfOqd YR drell Bidl 2 |

[4]



AIPMT Examination (2016) (Code - P)

95,

95,

Ans.

96.

96.

Ans.

97.

97.

Ans.

98.

98.

Ans.

(Page # 35)

Which of the following features is not present in the Phylum-Arthropoda?

(1) Chitinous exoskeleton (2) Metameric segmentation
(3) Parapodia (4) Jointed appendages
f=ferRaa weron § I dI—1 8T BrgaE—anfurer ¥ T8 Ui Sirar ?

(1) Frsfedl TEPHHE (2) faE<s @Svaq

(3) gredur (4) gftaa Sui

[3]

Which of the following most appropriately describes haemophilia?

(1) Recessive gene disorder (2) X-linked recessive gene disorder

(3) Chromosomal disorder (4) Dominant gene disorder

[alaN

FIfeTRad 9 | DIl SHIBIT &1 Ha¥ 31ftidh U auid UR[d HRAl § ?

(1) ¥l SiF &1 fdeR (2) X-HgaT{ JYHE! S BT fddR
(3) RN fadrR (4) 991 ST9 &1 AR
[2]

Emerson's enhancement effect and Red drop have been instrumental in the discovery of:

(1) Photophosphorylation and non-cyclic electron transport

(2) Two photosystems operating simultaneously

(3) Photophosphorylation and cyclic electron transport

(4) Oxidative phosphorylation

SR QIEIHRY 99T AR Tl 48 (¥ $1U) fhaa! @el § 9@ I3 8 &7

(1) UPRRRHIRAT 3R DI Seidg 1 AT

(2) Q1 YPBTT T BT Y A B HIAT

(3) UPRIRBIRATH IR FDII el AT

(4) fRisfca BrepIRee

[2]

In which of the following, all three are macronutrients?
(1) Boron, zinc, manganese (2) Iron, copper, molybdenum

(3) Molybdenum, magnesium, manganese (4) Nitrogen, nickel, phosphorus
frfaRaa & 9 o9 @t N9 95Tavs 27

(1) =4, 5w, Hren (2) <irg, am™, HreflesH
(3) HrefresT, AN, Heist (4) FgeoM, fAfea BrpRd

[Bonus]
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99,

99,

Ans.

100.

100.

Ans.

101.

101.

Ans.

102.

Name the chronic respiratory disorder caused mainly by cigarette smoking;
(1) Emphysema (2) Asthma
(3) Respiratory acidosis (4) Respiratory alkalosis

gHUM B & BRI GHA: I~ 8l dTel Aedhlel]l Taa-—dbR & M Id18y

(1) araemifa (2) e
(3) T\ AT (4) TI991 eTREIAT
[1]

A system of rotating crops with legume or grass pasture to improve soil structure and fertility is
called:

(1) Ley farming (2) Contour farming
(3) Strip farming (4) Shifting agriculture

HET HRET 3R IARBbAT § IR A B fol¢ BEA Pl BellaR Uigi (oI7gH) A1 917 RIS & H dacidr M DI
1 BE1 Ml &7

(1) o W&l (2) FHrERER S
(3) uglaR Wl (4) TS B
[1]

Mitochondria and chloroplast are:

(a) semi-autonomous organelles

(b) formed by division of pre -existing organelle and they contain DNA but lack protein synthesiz-
ing machinery.

Which one of the following options is correct?

(1) Both (a) and (b) are correct (2) (b) is true but (a) is false

(3) (a) is true but (b) is false (4) Both (a) and (b) are false

ASCIBi~gdl R FARIRE (ERITIH) ©

(a) 3EfarId 377Td 2 |

(b) gt 37! & fawret | 99d T iR I7H DNA BT & afdh uridH—dzerdt yormet &1 31v1a 8rar 2 |
frforRad fReedl # J Si=ar a8 82

(1) (a) 3R (b) T W& ® (2) (b) ¥ & Afdb (a) Tad &
(3) (a) |8 B oifh= (b) TTeord & (4) (a) 3R (b) TFI & Tad ®
[3]

In context of Amniocentesis, which of the following statement is in incorrect ?
(1) It is usually done when a woman is between 14-16 weeks pregnant.

(2) It is used for prenatal sex determination.

(3) It can be used for detection of Down syndrome

(4) It can be used for detection of Cleft palate.
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102.

Ans.

103.

103.

Ans.

104.

104.

Ans.

105.

105.

Ans.

106.

106.

Ans.

(Page # 37)

Iaed & de¥ H, Fr=foRad § | dH—a1 $U Taa 27

(1) I8 AR ¥ d9 a1 911 ® 519 Sl 3l 14-16 9« & 919 &1 T 8rar 2|
(2) 9 y9ayd fori—feiRor & forg ygad fdar o 7|

(3) 391 s=A RigM &1 ual o & o ugaa e Sran 2

(4) 30 Ty (Forue Yoie) &1 gal o & for ggad fdar o 2

[4]

In a chloroplast the highest number of protons are found in:

(1) Stroma (2) Lumen of the thylakoids
(3) Inter membrane space (4) Antennae complex

gRA oad H WIS &1 AfwdH A waf gl Sl 77

(1) Hifeawr (2) TZABIZS B JATRIADT

(3) 3T Pell A (4) v Hq==

[2]

Photosensitive compound in human eye is made up of:

(1) Guanosine and Retinol (2) Opsin and Retinal

(3) Opsin and Retinol (4) Transducin and Retinene
AMG 73 # yarRNdd Afe &9 B &

(1) 9FEIRE &R fedfa | (2) 3iftas 3R feqa |

(3) Nfe 3fiR Xfedta & (4) s &R e ia |
[2]

Spindle fibres attach on to:

(1) Telomere of the chromosome (2) Kinetochore of the chromosome
(3) Centromere of the chromosome (4) Kinetosome of the chromosome
REAGE GRS

(1) IoREF & I W (2) ToF B PIECIDR W

(3) TRE & b= W (4) TS & BISTCRE R
[2]

Which is the National Aquatic Animal of India?

(1) Gangetic shark (2) River dolphin

(3) Blue whale (4) Sea-horse

YRA BT I STelt ool Siar 87

(1) T @ e (2) T & Sifew

(3) = g« (4) T ST

[2]
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107.

107.

Ans.

108.

108.

Ans.

109.

109.

Ans.

110.

110.

Ans.

Which of the following is required as inducer(s) for the expression of Lac operon?

(1) glucose (2) galactose (3) lactose (4) lactose and galactose
AP gD B AT B fory F=ferRad § W B9 U IR & ©U H BRI B D foIU IMaID BIN?
(1) I (2) frergerst (3) dFeS (4) AT 3R eiderS

[3]

Which of the following pairs of hormones are not antagonistic (having opposite effects) to each
other?

(1) Parathormone - Calcitonin

(2) Insulin - Glucagon

(3) Aldosterone - Atrial Natriuretic Factor

(4) Relaxin - Inhibin

WAl & FfaRad I § 9 DIFE1 g U gav & R (ol ywmg aren) 781 27
(1) txemts - dfeaerf =

(2) sgfer - T

(3) TeEReRH - tfeaa Afgaefes ar®

(4) Rafea= - gfefes

[4]

Microtubules are the constituents of:

(1) Cilia, Flagella and Peroxisomes

(2) Spindle fibres, Centrioles and Cilia

(3) Centrioles, Spindle fibres and Chromatin

(4) Centrosome, Nucleosome and Centrioles

et Feed Bl &

(1) veAr™i, HIHT 3R WReITRNBRT &

(2) THHU T, ARGD<I AR A B
(3) IRE=I, AH™W V2 3R DA &
(4) IRSGHEI, YATAAH AR IRGD<I B

[2]

A complex of ribosomes attached to a single strand of RNA is known as :

(1) Polysome (2) Polymer (3) Polypeptide (4) Okazaki fragment
AT BT UH Aghel St RNA & Tdhal Io9d @ A1 Sl BdT 8, a1 HEardl &7

(1) dfeira (2) Ulel R (qgeTd) (3) dfeliuerss O EICINIEARCES]

[1]
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111.

111.

Ans.

112,

112,

Ans.

113.

113.

Ans.

114.

114.

Ans.

Fertilization in humans is practically feasible only if:
(1) the sperms are transported into vagina just after the release of ovum in fallopian tube

(2) the ovum and sperms are transported simultaneously to ampullary - isthmic junction of the
fallopian tube

(3) the ovum and sperms are transported simultaneously to ampullary - isthmic junction of the
cervix.

(4) the sperms are transported into cervix within 48 hrs of release of ovum in uterus.

qrdl e ufdbar araeiRed: afl w9 gl oe:

(1) gyl &1 AR & N RIMTR FSY] & Bard Teil § 8IS oW & 36 918 2 |

(2) 3= SR YEHIURIT BT AR BaArdl Foll & B Tofl & TYeri—geafis M R U6 & I99 R 81|
(3) 3F=T] MR YIS &1 AHCRY HaT & VYo sAHd G719 W Udh & 999 W 8T 8 |

(4) a1 & WioR YHU3I HT AR T9eT 7 3] & FHad B & 48 ¢ & Hiax g 8

[2]

Asthma may be attributed to:

(1) bacterial infection of the lungs

(2) allergic reaction of the mast cells in the lungs
(3) inflammation of the trachea

(4) accumulation of fluid in the lungs
M HT HRYI FT BT 7

(1) B%Si BT AT §RT HHHI

(2) BHSI | ARE BIRTHRN &) Tetoti—arfafear
(3) T B SN

(4) B%si & AR UF THEA 8 Sl

[2]

The Avena curvature is used for bioassay of:

(1) ABA (2) GA, (3) IAA (4) Ethylene
TdHT gepdt fhaa 919 e & for wygad B 87

(1) ABA (2) GA, (3) IAA (4) TR
[3]

The standard petal of a papilionaceous corolla is also called :

(1) Carina (2) Pappus (3) Vexillum (4) Corona
UfAforeN==N arel SeTySt H AMD &l DI 3 fbd AW A ST Il 57
(1) R (2) s (3) IR (4) DRI

[3]
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115. Tricarpellary, syncarpous gynoecium is found in flowers of :

(1) Liliaceae (2) Solanaceae (3) Fabaceae (4) Poaceae

115. fores), gaawsd SR f&as go § adar 82

(1) forferg=it (2) |rer=d (3) B (4) dreh
Ans. [1]

116. One of the major components of cell wall of most fungi is:
(1) Chitin (2) Peptidoglycan (3) Cellulose (4) Hemicellulose

116. 3G Hadi H PIRET WRT &1 U THI FFaTd HIdr 2?

(1) ®rsfes (2) TR R (3) TG (4) RIS
Ans. [1]

117. Select the incorrect statement:
(1) FSH stimulates the sertoli cells which help in spermiogenesis.
(2) LH triggers ovulation in ovary
(3) LH and FSH decrease gradually during the follicular phase.
(4) LH triggers secretion of androgens from the Leydig cells.
117. a0 $UF B AT
(1) FSH wefell ®IRiemsil @1 SEftd &l & il YHIoi § Ferddl Sl 2 |

(2) LH 3isrr # sisicaoid & URd &xar 2 |

(3) LH 3R FSH Yead—ara=al & aRM 8§R—8R gedl Sl ¢ |

(4) LH NS/ ®1fdrpmeti & UsioE @ SId 31 URd &-aTl ® |
Ans. [3]

118. In meiosis crossing over is initiated at -

(1) Pachytene (2) Leptotene (3) Zygotene (4) Diplotene
118. regAl favreE 4 SiF fafg fha srgwen # o™ gIar 87

(1) weve (2) a3ue (3) gHuE (4) feue
Ans. [1]

119. A tall true breeding garden pea plant is crossed with a dwarf true breeding garden pea plant.
When the F, plants were selfed the resulting genotypes were in the ratio of:

(1)1 :2:1:: Tall homozygous : Tall heterozygous : Dwarf
(2) 1 :2:1:: Tall heterozygous : Tall homozygous : Dwarf
(3)3:1:: Tall : Dwarf
(4) 3 : 1 ::Dwarf : Tall
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119.

Ans.

120.

120.

Ans.

121.

121.

Ans.

122,

122,

Ans.

123.

U TR AU ST SEM Hex UGy dl U dIF dgnd Yoi-+ SeM Hex UGy ¥ [HRd BRIl 11 | 579 F, gredi
DI WWRIAT fBar 71 a1 SiF Uy &1 gRorH f6d srgura 3 or?

(1)1:2:1:: I G o Ayag@e @ 9
(2)1:2:1:: d Ruag™el W F9gF6l @
(3)3:1::a% :dM

(4)3:1::d9 :aw

[1]

Which of the following is the most important cause of animals and plants being driven to extinc-
tion ?

(1) Over-exploitation (2) Alien species invasion
(3) Habitat loss and fragmentation (4) Co - extinctions
g3l ok yeui @ f[Aqfl @1 F=feRad § | @19 |1 U qa¥ 0 BRI 57
(1) s1fy qre (2) fageh sfa & @ers

(3) 3rmar B+ 3R wed (4) Te—HIta

[3]

Which one of the following is a characteristic feature of cropland ecosystem ?

(1) Absence of soil organisms (2) Least genetic diversity
(3) Absence of weeds (4) Ecological succession
fF=folRad & & @19 v N 4 aiRa= &1 aifiaerr 3?2

(1) 51 Sial @ srguRerfa (2) =g=7cH srgarin fafderdn
(3) STl @ srguiRefd (4) Rz FHHoI

[2]

Changes in GnRH pulse frequency in females is controlled by circulating levels of:

(1) estrogen and progesterone (2) estrogen and inhibin

(3) progesterone only (4) progesterone and inhibin
A&l # GNRH Yo IRARAT 98ald &1 FRIF0 fhds aRE=RU—wRI gRT 2ar 27?
(1) IS 3R Yo (2) s IR sfEfeH

(3) dad Yo+ (4) U’ 3R gfRfad

[1]

Which of the following is not a feature of the plasmids ?
(1) Independent replication (2) Circular structure
(3) Transferable (4) Single-stranded
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123.

Ans.

124.

124.

Ans.

125.

125.

Ans.

126.

o o

fr=forRad & & B9 U wIfoas 6T 3ifierero 81 &7

(1) T yfcrercia (2) =g ERE
(3) IR Iy (4) THa—Sdd
[4]

Which of the following features is not present in Periplaneta americana?
(1) Schizocoelom as body cavity

(2) Indeterminate and radial cleavage during embryonic development
(3) Exoskeleton composed of N-acetylglucosamine

(4) Metamerically segmented body

ffeiRad 9 | diar dev URwiweT MR | 781 urn Sdr?
(1) <88 & w4 | QAgE

(2) ¥ gRaya & IR AMEIRT IR R fager

(3) N-wfeere@rand & [fa areae

(4) fawrser wfed <8

[2]

In higher vertebrates, the immune system can distinguish self-cells and non-self. If this property
is lost due to genetic abnormality and it attacks self-cells, then it leads to:

(1) Allergic response (2) Graft rejection

(3) Auto-immune disease (4) Active inmunity

JeeIR BRRR(BAl H, UfReT T3 W—dbIRrdb1ell IR—BIRIBRH H WE B bl & | Afa T3 BT AT ATHHI
% PR g U T & WY AR T—HIRGRI B € B ol A sHd URUIEGHY a7 AT 2

(1) Tersit argfeban (2) FRIY aRAIBR HR 1
(3) wufaRen fAdR (4) afpa ufamen
[3]

Match the terms in Column-I with their description in Column-II and choose the correct option:

Column I ColumnII
(a) Dominance ) Many genes govern a single character
(b) Codominance (i) In a heterozygous organism only one allele expresses
itself
(c) Pleiotropy (i) In a heterozygous organism both alleles express

themselves fully

(d) Polygenic inheritance (iv) A single gene influences many characters
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126.

Ans.

127.

127.

Ans.

128.

Code:
(a) (b) (c) (d)
(1) (i) (i) (iv) (iii)
(2) (i) (iii) (iv) (i)
(3) (iv) (i) (i) (iii)
(4) (iv) (iii) (i) (ii)
BicH-1 B el BT Bied-11 4§ QY 7¢I auiF | Hg I Jon FE f[Aded g
Column I ColumnII
(a) T (i) [P SfF Ul @eToT BT =T o B |
(b) wEywIfaar (i)  fvrRrwsh Sia § o9d e 8 Yeild a3 &1 ifierad &Rl 2 |
(c) IguIaaT (iii)  fawagTsh e § SF1 &1 Uellad W &1 QX1 a¥8 Jfffeead &_d
g
(d) TgoiF gemfa (iv)  Tdhd SN P erol Bl gHIfdd Heal B |
G
(a) (b) (c) (d)
(1) (i) (i) (iv) (iii)
(2) (i) (iii) (iv) (i)
(3) (iv) (i) (ii) (i)
(4) (iv) (iif) (i) (ii)
[2]

Joint Forest Management Concept was introduced in India during:

(1) 1960s (2) 1970s (3) 1980s (4) 1990s
AYF a9 YaE B gRUI 4RT H {69 SRME ywfad #1121 e

(1) 1960s (2) 1970s (3) 1980s (4) 1990s
[3]

Pick out the correct statements:

(a) Haemophilia is a sex-linked recessive disease

(b) Down's syndrome is due to aneuploidy.

(¢) Phenylketonuria is an autosomal recessive gene disorder

(d) Sickle cell anaemia is an X- linked recessive gene disorder.

(1) (a) and (d) are correct (2) (b) and (d) are correct
(3) (a), (c) and (d) are correct (4) (a),(b) and (c) are correct
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128.

Ans.

129.

129.

Ans.

130.

130.

Ans.

131.

FE B MY
(a) BT fRiT—ager™™ udl 9T 8 |
(b) SIS+ WIg™ SRPIMMT & FHRUT BTl 8 |

(c) wie@ie i g (hgaacI=IRan) & 3ifel 3 U9l SiF [IeR |

(d) T3 BIRMGI IaATedd] X-Hgel = YA SiiF PR 2 |

(1) (a) s (d) @& & (2) (b) sl (d) w1 3
(3) (a), (c) 3R (d) @& & (4) (a),(b) sk (c) wel &
[4]

Which one of the following statements is wrong
(1) Cyanobacteria are also called blue-green algae
(2) Golden algae are also called desmids.

(3) Eubacteria are also called false bacteria.

(4) Phycomycetes are also called algal fungi.

freforRad # & 191 B Tad 27

(1) AREFRIRTT BT He—eRd aret W ded B |

(2) =t Jareli o1 SRTS M dead B

(3) gIaRa (gofaropeli) &1 e Sfar] Y w8l S 2 |

faN

(4) BrzHHERIEN B daferd wad W Hel Sl g |
[3]

Proximal end of the filament of stamen is attached to the:
(1) Anther (2) Connective (3) Placenta (4) Thalamus or petal

IHad & dg 1 Mdet RRT e g1 2 27
(1) WRETHIY (2) |SaST® (3) drsTSEE (4) YU AT T
[4]

Which of the following approaches does not the defined action of contraceptive ?

(1) Barrier methods prevent fertilization

(2) Intra uterine devices increase phagocytosis or sperms, suppress sperm motility and
fertilizing capacity of sperms

(3) Hormonal contraceptives Prevent/retard entry of sperms, prevent ovulation and
fertilization

(4) Vasectomy prevents spermatogenesis
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131. f=foRag Surmdl & 9 &9 SuE fed) MiftRige & aRyifa fhar =8 9amar?

(1) g @RR) fafdrit Y= A B
(2) aiq: wwterlt ot YHIST B JeTDIRBAT 91 acll &, YHIo3 I Afasfiaar va A=
&A1 BT Hed HRal B
(3) e mifRIES YHIRAT & YT BT Abd 8/STD] &R BT G P d 8, FSI AR
%= =81 8 d
(4) YhdED ST T[T A& & < |
Ans. [4]

132. The taq polymerase enzyme is obtained from:
(1) Thermus aquaticus (2) Thiobacillus ferroxidans

(3) Bacillus subtilis (4) Pseudomonas putida

132, % "iformo Troirsd fhasy urd fohar wrdn 87

(1) o Yerdfeds (2) Prdfier B
(3) af¥rerar wafefera (4) geEE gl
Ans. [1]

133. Identify the correct statement on'inhibin' :
(1) Inhibits the secretion of LH, FSH and Prolactin.
(2) Is produced by granulose cells in ovary and inhibits the secretion of FSH.
(3) Is produced by granulose cells in ovary and inhibits the secretion of LH

(4) Is produced by nurse cells in testes and inhibits the secretion of LH.
133. R & IR § F& HH vgAfw —
(1) LH, FSH 3R Ureifdes aur &1 dsfid ol g |

(2) TB TSRA B HOHF HIRGRI §RT I Bl § 3R FSH ¥d01 &1 Asfid HRal 3 |

(3) T8 SISRM & B HIRGRI §RT SO BIdl & 3R LH SIa0 &1 Haffid &l & |

(4) T8 quul B g () PIRERN gRI ST~ BaT € iR LH Sa0 &7 Fafid &l B |
Ans. [2]

134. Which part of the tobacco plant is infected by Meloidogyne incognita?
(1) Flower (2) Leaf (3) Stem (4) Root

134, T & Y B DI A1 AR FASERTET ShIfae §RT Hwiad BT 87
(1) gu (2) o=hl (3) @ (4) Sts
Ans. [4]
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135. Antivenom injection contains preformed antibodies while polio drops that are administered into

the body contain:

(1) Activated pathogens (2) Harvested antibodies
(3) Gamma globulin (4) Attenuated pathogens
135. yfdenfay Sl § gdffta gforeN g € Safd difern &1 4=1 4, o= 48 g1 faamn oman g, 81 € -
(1) AfHRa oD (2) s91Y T gforen
(3) I TAT e (4) & FR fag U TS B
Ans. [4]

136. Which one of the following cell organelles is enclosed by a single membrane ?

(1) Mitochondria (2) Chloroplasts (3) Lysosomes (4) Nuclei
136. fr=faRad # | &9 A1 BIRGT Hadt Udhd &l I forT 2rar g ?

(1) ST (2) eRaTad (3) TP (4) d=®
Ans. [3]

137. Lake of relaxation between successive stimuli in sustained muscle contraction is known as:

(1) Spasm (2) Fatigue (3) Tetanus (4) Tonus
137. SR LA & 99 sl @ & & SR BN arell daifod U AghEd FEeld ® |

(1) Yo (wron) (2) s (3) feeTw (4) e
Ans. [3]

138. Which of the following is not a stem modification?

(1) Pitcher of Nepenthes (2) Thorns of citrus

(3) Tendrils of cucumber (4) Flattened structures of Opuntia
138. f=fafad # 4 &9 & a7 $1 HURRY T8l 57

(1) e a1 Te (2) Rigw & @i

(3) @R & yam (4) iR &) Fud) G
Ans. [1]

139. Water souluble pigments found in plant cell vacuoles are :
(1) Xanthophylls (2) Chlorophylls (3) Carotenoids (4) Anthocyanins

139. Uy HIR¥E @ [ H§ S gferd avie w8 27
(1) SF=enfeer (2) uvieRa (3) dHAfeaTsS (4) TR
Ans. [4]
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140.

140.

Ans.

141.

141.

Ans.

142,

142,

Ans.

143.

Select the correct statement :

(1) Gymnosperm are both homosporous and heterosporous

(2) Salvinia, Ginkgo and Pinus all are gymnosperms

(3) Sequoia in one of the tallest trees

(4) The leaves of gymnosperms are not well adapted to extremes of climate

FE B AT

(1) srFTaadien, SIS 3R fATHAdSe geR & 81d 2

(2) wrfeafran, R R urg=9, I 9 Ea |

(3) Ruprgar |ad o d aell § 9 U B

(4) JTaadsh uredl ®1 uRrdl @ aRkil Soar] @ @RAd forg srgaford FEl e §
[3]

Which of the following is not required for any of the techniques of DNA fingerprinting available at
present ?

(1) Polymerase chain reaction (2) Zinc finger analysis

(3) Restriction enzymes (4) DNA-DNA hybridization

1T BT @ e W deiie & folv =falRad § & {69 & @1 smaegaddar 981 erfi?
(1) iR st rfafdban (2) i 3irfer fageryor

(3) mferderT geirgs (4) ITAT~SLTAY. HHRT

[2]

Which type of tissue correctly matches with its location?

Tissue Location
(1) Smooth muscle Wall of intestine
(2) Areolar tissue Tendons
(3) Transitional epithelium Tip of nose
(4) Cuboidal epithelium Lining of stomach
DITET Had - R & A8 HF var 27
Sd® Rafa
(1) o o=h 3= AR
(2)  uRelch edw FH
(3)  uRadi Sude ARYBT
(4) HATHR SUD ST 3R

[1]

A plant in your garden avoids photorespiratory losses, has improved water use efficiency, shows
high rates of photosynthesis at high temperatures and has improved efficiency of nitrogen
utilisation. In which of the following physiological groups would you assign this plant?

(1) G (2) C, (3) CAM (4) Nitrogen fixer
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143.

Ans.

144.

144.

Ans.

145.

145.

Ans.

146.

3MUd I § Th ISy YbTe a9 I B dlell BIfF I 99d1 8, SUd! Sl SYAIT &) Se7d] S~Id 8, 98 Sod dlg
TR GBI YT ] Fod g% Pl I & 3NN AP Ao SYAT B GeTdl S+Id © | 31U 39 UIey dl f=ferRad
H ¥ 59t diide! e § [hN?

(1) C, (2) C, (3) CAM (4) TTEere RoRHR®

[2]

Which of the following structures is homologus to the wing of a bird ?
(1) Dorsal fin of a Shark (2) Wing of a Moth
(3) Hind limb of Rabbit (4) Flipper of Whale

fr=rforRaa G¥=aemsii § | dia—d G¥=-T Uell & U & gl &

(1) 2 @ I T (2) =ret¥ &1 U
(3) TR T UTF UG (4) TIA BT TR
[4]

Which of the following characteristic features always holds true for the corresponding group of

animals?
(1) Cartilaginous endoskeleton Chondrichthyes
(2) Viviparous Mammalia
(3) Possess a mouth with an upper and a Chordata
lower jaw
4) 3 - chambered heart with one Reptilia

incompletely divided ventricle
fAfoiad 4 | @19 faRre deor sxen € Sgell & Jgwdl @ § Ul Sk 8¢

(1) SuRfia siddde EAIESIN

(2)  wohars® wferan

(3) W IR et STae e g B T Sl Prscl

(4) 9 P& dra geg o eyuia: der gan NS R
T e Bidr ®

[1]

Which of the following statements is not true for cancer cells in relation to mutations?
(1) Mutations inproto-oncogenes accelerate the cell cycle.

(2) Mutations destroy telomerase inhibitor.

(3) Mutations inactivate the cell control.

(4) Mutations inhibit production of telomerase.
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146.

Ans.

147.

147.

Ans.

148.

148.

Ans.

149.

IaRgdT & Ty ¥ SR I¥reie & forv fr=fofag sl § ¥ dra—ar 98 781 & ?

(1) UrhdERSNHl § IURIIT BIfRIE—ah B TRT R <d B |

<. o .

(2) SARTAdH TTAFRS FEHADG Pl T H I 2 |

(3) SaRad= IRe—f=T o1 [fdpa &= Id B

(4) SARTAH TTAFRS & IUGH DI FefAd HR <d g |

[4]

The amino acid Tryptophan is the precursor for the synthesis of:

(1) Melatonin and Serotonin (2) Thyroxine and Triiodothyronine
(3) Estrogen and progesterone (4) Cortisol and Cortisone

T o eI fhdd weeiwor & forg g grar 2°?

(1) JemeIfAe iR JRIeIf=E (2) PRI 3R STSIMSSIRRRIMT
(3) SN 3R UIOIReI (4) HIfEAra iR wIfdH=

[1]

Following are the two statements regarding the origin of life:

(a) The earliest organisms that appeared on the earth were non-green and presumably
anaerobes,

(b) The first autotrophic organisms were the chemoautotrophs that never released oxygen.
Of the above statements which one of the following options is correct?

(1) (a) is correct but (b) is false. (3) (b) is correct but (a) is false

(3) Both (a) and (b) are correct (4) Both (a) and (b) are false.

Sfigd @1 IRy & ded # T HUF Ry g ¥ ¢

(a) el R UdHe B Tl IRMGTH ST &R T8l 9 AR FHaaar rarady o |

(b) YoM Ude B9 dTel WUyl Sfig AUt O RSeie SifaRio= &1 Scaoid A8l fha |

IWITFd HUAT F A b A=flRad woq wg 87

(1) (a) |8 B ifh (b) TTora & (3) (b) & & <ifbd (a) TTora B
(3) (a) 3R (b) <+ & 9 ® (4) (a) 3R (b) < & Tad &
[3]

Reduction in pH of bood will:

(1) reduce the rate of heart beat

(2) reduce the blood supply to the brain

(3) decrease the affinity of hemoglobin with oxygen

(4) release bicarbonate ions by the liver
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149.

Ans.

150.

150.

Ans.

151.

151.

Ans.

152.

152.

Ans.

153.

153.

Ans.

®ER & pH d 89 drell $H & BRI :
(1) BT WEH P & FHH & ST |

(2) ART BT BROR RO HF & ST |

(3) SIS & 1 SEIAIS & gl g€ SR |

(4) IHd gRT dISHIET BT fBTET B9 T |

[3]

Analogous structures are a result of:
(1) Divergent evolution (2) Convergent evolution

(3) Shared ancestry (4) Stabilizing selection

HHaf] G¥eAN 69 BRSO Bidl & ?

(1) 3oy famr & (2) R AR &
(3) R fasrT & (4) ReRBR R
[2]

Which of the following is a restriction endonuclease ?

(1) Hind II (2) Protease (3) DNasel (4) RNase
f=faRea & & & @1 va ufdde goesgfadr g2

(1) e 11 (2) wifeTs (3) Sigees 1 (4) STRTATS
[1]

The term ecosystem was coined by:
(1) E.P.Odum (2) A.G.Tansley (3) E.Haeckel (4) E.Warming

gHIRRCH (RAH) ¥ A Ugel fhas q=m o ?
(1) g 9. arsH (2) . SN, e (3) 3. Rava (4) g, arfifwr
[2]

Which one of the following statements is wrong?

(1) Sucrose is a disaccharide. (2) Cellulose is a polysaccharide.

(3) Uracil is a pyrimidine. (4) Glycine is a sulphur containing amino acid
for=foRad # 9 B -1 HH TToid 8 ?

(1) goIE Th SHDISS ¢ | (2) ¥GAE Th UiforgdhIss 2 |

(3) Jfrat va ARMSH 2| (4) TSR Uh Ahgad HT o B |
[4]



AIPMT Examination (2016) (Code - P) (Page # 51)

154.

154.

Ans.

155.

155.

Ans.

156.

156.

Ans.

157.

157.

Ans.

158.

In bryophytes and pteridophytes, transport of gametes requires:

(1) Wind (2) Insects (3) Birds (4) Water
gITEe SR IRSHIEE # R IHG & A & foy fhaat maegewar g 87

(1) ga= (2) ®le (3) ueh (4) It
[4]

Whendoes the growth rate of a population following the logistic model equal zero ? The logistic
model given as dN/dt = rN(1-N/K):

(1) when N/K is exactly one. (2) when N nears the carrying capacity of habitat.
(3) when N/K equals zero. (4) when death rate is greater than birth rate.

AR ® Hied &1 AFERV 4 gY B e &1 afg R Y= & /IR B4 2l ? difciRes disa @1 Feforiad
HHBROT H ST AT 8

dN/dt = rN(I-N/K)

(1) 519 N/K 79 & aRTeR & | (2) ST9 SR @ el FYaR IE B |
(3) 519 N/K &% T 21| (4) <19 N ggtarg &) enlRdr ewdr & G99 & |
[1]

Wtuch one of the following statements is not true ?

(1) Tapetum helps in the dehiscence of anther

(2) Exine of pollen grains is made up of sporopollenin

(3) Pollen grains of many species cause severe allergies

(4) Stored pollen in liquid nitrogen can be used in the crop breeding programmes

f=fafaa & & S—a1 HUF 9F T8I 5°

(1) WETHN & TS § CUIeH eIl dddl ©

(2) WRETH & AT TR @1 &1 8l 7

(3) 9gd ¥ Wi & TR TR gRgStar UeT aRd §

(4) =faa RIS F6 WUSIRG WRITHY, HHd Uoi= Arerisil # ugad far o |aad 2

[1]

Which of the following would appear as the pioneer organisms on bare rocks ?

(1) Lichens (2) Liverworts (3) Mosses (4) Green algae
TP T I5M TR UH AH S1d & w9 § fF=fRad § & i SR

(1) ars® (2) forazae (3) 9t (4) eRa Jrara
[1]

Which one of the following is the starter codon ?
(1) AUG (2) UGA (3) UAA (4) UAG
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158. f=IfeiRad # & ST T UR™S UdHe &7
(1) AUG (2) UGA (3) UAA (4) UAG
Ans. [1]

159. Whieh one of the following characteristics is not shared by birds and mammals?

(1) Ossified endoskeleton (2) Breathing using lungs
(3) Viviparity (4) Warm blooded nature
159. fr=ferRaa oteroll § & PIF9T b efor uferdl ofR Ta=enRal <1 § 981 uran Sfar 27
(1) 3Ren[@ sid:dmHTce (2) wHSl ERT a4
(3) HAoausTHar (4) fFragamd gsfa
Ans. [3]

160. Nomenclature is governed by certain universal rules. Which one of the following is contrary to
the rules of ?

(1) Biological names can be written in any language.

(2) The first word in a biological name represents the genus name, and the second is a specific
epithet

(3) The names are written in Latin and are italicised
(4) When written by hand, the names are to be underlined

160. TH-UEf §B faRy wdve a7 s gR1 iR 8kt 2 | F=folRed 3 § @19« e som 7@ ugfa & i
@ fawg 87
(1) Sifd® =™ &1 f=fl 0 9w | foran S Adbar @
(2) e 9 # ugel Teq 99 M IR SR ¥R Wi HHhd U Bl YSRiq dwvar 2
(3) 1 BT e A F IR foRe SieRi # foram Swan 2
(4) I BT 99 BY A fore ® @1 89 Y@ifehd fhar S B
Ans. [1]

161. Blood pressure in the pulmonary artery is:
(1) same an that in the aorta. (2) more than that in the carotid.
(3) more than that in the pulmonary vein
(4) less than that in the venae cavae.

161. FHE g9 & HidR ©fe <9 &am § ¢
(1) a1 & a1 A= & HiaR 81 g | (2) B & Nax = Ba1 B S99 4% 2Brar 7 |
(3) Bd R & iR RS- 2Bar @ 969 1fds 2 2

(4) 7eIl3RT & MR g+ 8ar 8, ST $H il 8 |
Ans. [3]

162. Cotyledon of maize grain is called:

(1) plumule (2) coleorhiza (3) coleoptile (4) scutellum
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162. HIHI & T B dIOT0H BT R PHal Il 8 7
(1) gTR (2) HelBR (3) wigR—ara (4) @S
Ans. [4]

163. In the stomach, gastric acid is secreted by the:
(1) gastrin saecreting cells (2) parietal cells
(3) peptic cells (4) acidic cells
163. MR F WX 9 &I 9 2l &
(1) IRgT &1 ST B dTell DIRTHRI A (2) f<ira SIfRrERN |
(3) uftedw wIfr@msii 4 (4) 37 DIRTBIRT A
Ans. [2]

164. Depletion of which gas in the atmosphere can lead to an increased incidence of skin cancers:

(1) Nitrous oxide (2) Ozone (3) Ammonia (4) Methane
164. I@aRv # 59 39 & N 81 W @A & AR B AaR 98 S0

(1) rsew ffaarss (2) A (3) s (4) M=
Ans. [2]

165. Chrysophytes/ Euglenoids, Dinoflagellates and Slime moulds are included in the kingdom:

(1) Monera (2) Protista (3) Fungi (4) Animalia
165. HEHIWISE, JieHiss, SEAbclvlde 3R 3faud hhal b S d § |fford 87

(1) 391 (2) wifezer (3) BaP (4) SigerTd
Ans. [2]

166. Watervapour comes out from the plant leaf through the stomatal opening. Through the same
stomatal opening carbon dioxide diffuses into the plant during photosynthesis. Reason out the
above statements using one of following options:

(1) Both processes cannot happen simultaneously.

(2) Both processes can happen together because the diffusion coefficient of water and CO, is
different

(3) The above processes happen only during night time.
(4) One process occurs during day time, and the other at night

166. UCY TN | 9l aT =0 b gRT 918% AT B | TR & SRIF I T | Hled sgeffaarss yrey § faaRd
Bl 2| Sugad Ui H (BRUIT R =R #R) wa f[adwen g
(1) < ufshad v e T} 81 Faba |
(2) S 9fbaN vH A1 B Gl § R®ifd od R CO, BT faaver quid = 2 |
(3) Swia ufhard ad I H 8 FHd B |
(4) v ufspan f&7 3 qen g ufshan 1a # & 2
Ans. [2]
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167. In mammals, which blood vessel would normally carry largest amount of urea ?

(1) Renal Vein (2) Dorsal Aorta (3) Hepatic Vein (4) Hepatic Portal Vein
167. WAl 3§ o SRR—a1ReT |Mra: 999 31fte JRAT 8= Fadl 57

(1) ams—RrT (2) uss HETEE (3) FHa—Rrr (4) 3%a MafRer R
Ans. [3]

168. Seed formation without fertilization in flowering plants involves the process of:

(1) Sporulation (2) Budding
(3) Somatic hybridization (4) Apomixis
168. uuil ureyi # a1 Aveq & = g9+ fFr=ifeifaa § & dre=i ufdhan 27
(1) ASIIBSTAA (2) gooA
(3) &1R¥F FHOT (4) =TT
Ans. [4]
169. Which of the following is wrongly matched in the given table?
Microbe Product Application
Trichoderma . . .
(1) polysporum Cyclosporin A immunosuppressive drug
(2) Monascus purpureus |Statins lowering of blood cholesterol
(3) Streptococcus Streptokinase §° ORIt from blood
vessel
Clostridium : . .
(4) butylicum Lipase removal of oil stains
169. = & WA diferet § wTerd AR T Hal @1 g
GERSICE SR I
(1) SR PISH UIIRURH|AsFi@mIRT A |ufaRen deae iufd
(2) AR R |wefeH SER—DPIATTA B HH
Cagll
(3) TERHA W IHg ol SiR—arfedr & oad 6
gl
(4) FAREIF ST AU T B g& Bl g
FerafTdHH
Ans. [4]

170. In a testcross involving F, dihybrid flies, more parental-type offspring were produced than the
recombinant-type offspring. This indicates:

(1) The two genes are located on two different chromosomes.

(2) Chromosomes failed to separate during meiosis.

(3) The two genes are linked and present on the same chromosome.
(4) Both of the characters are controlled by more than one gene.
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170.

Ans.

171.

171.

Ans.

172.

172.

Ans.

173.

wierel gRiRer #, S F fgiar AfRadl el gariTst geR &1 Gafadi o o § Se—YeR Adiadl Afdd
I gl | 399 d¥ad fAed & b
(1) 31 S a1 3fe JoREET W) Rerd €1

(2) SIETGIAT & IR YUGF Y&IdH T8l 8l Uiy |

(3) 1 S FEer B iR ta & JogE W Rerd 2|
(4) ST & e B R e W 3ifE SfiF B B
[3]

It is much easier for a small animal to run uphill than for a large animal, because:
(1) It is easier to carry a small body weight.

(2) Smaller animals have a higher metabolic rate.

(3) Small animals have a lower O, requirement.

(4) The efficiency of muscles in large animals is less than in the small animals.

TS AHR & Sidall & JhEal § BIC MMBR & gl & (oY Sl W A1 A BIdl § i -
(1) B2 IR & YR BT SHUR o ST Ueldhd A 8l 8 |

(2) BIC 3MHR arel TR & IUTT &R IULATHT 31AF Bl 2 |

(3) BIC MBR & Sigall B O, AETIHI U&TDHd HH Bl o |

(4) BIc Sigall & goblael H g Sigsll &l URR &) HRIeFd &F 8l o |

[2]

Which ofthe following is not a characteristic feature during mitosis in somatic cells ?

(1) Spindle fibres (2) Disappearance of nucleolus
(3) Chromosome movement (4) Synapsis

PIRIDBT DIRMBIRA H FHRIA & QR TR § F BIF—H &0l T8l iy S ?
(1) THpwdl g (2) of®1 &1 o=

(3) Torg (4) g

[4]

Which of the following statements is not correct?

(1) Pollen grains of many species can germinate on the stigma of a flower, but only one pollen
tube of the same species grows into the style.

(2) Insects thatconsume pollen or nectar without bringing about pollination are called pollen/
nectar robbers.

(3) Pollen germination and pollen tube growth are regulated by chemical components of pollen
interacting with those of the pistil.

(4) Some reptiles have also been reported as pollinators in some plant species.
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173.

Ans.

174.

174.

Ans.

175.

175.

Ans.

176.

176.

Ans.

177.

177.

Ans.

=1 foled & 9 @19 91 B 9 T3l 87

(1) 989 AN ST & WRETHY U Yo & JAibld IR AR 8 Fbd & U] ST SIId & WRIHVN & Hadl T
WRE—Aferdt afitar § o qed 2 |

(2) ®c S 31 RETOT 5T IRAT A7 AHRE BT YT BRI & S8 WRE/AGE AR Hed ¢ |

(3) WRETHUT FHIOT qAT WI—fId] g WGV dll FHNHHR B WARS fhdl & hedwd I TR
Heal gRT Fafa gl 2

(4) B ARFY, HB UGy Al § WRETYT HRd §T 99 T B |

[1]

Specialis edepidermal cells surrounding the guard cells are called:

(1) Complementary cells

(3) Bulliform cells

(2) Subsidiary cells
(4) Lenticels

ER PIR¥EIRT @1 uRg drell AR ST I IfdieRi B &1 B8 Sl 87

(1) &b PHIRHT
(3) 3rmae TFDPIRIHTY
[2]

(2) HERI® BIRHY

(4) ar==

Which of the following guards the opening of hepatopancreatic duct into the duodenum ?

(1) Semilunar valve
(3) Pyloric sphincter

(2) Ileocaecal valve
(4) Sphincter of Oddi

FefaRad § | I Ga1 Ihar=ard @l aife-dl ueoll § Gad drel Y Bl Q@I PRl 87

(1) JETIETHR HUIS
(3) SToxfeiH sraRifef
[4]

(2) B due
(4) 3SE BT AR

&ems modified into flat green organs performing the functions of leaves are known as:

(1) Cladodes

(2) Phyllodes

(3) Phylloclades (4) Scales

IR BT BRI B drol, TUS BN T H ®URRA - bl T HIEl Sl §

(1) 9oy g
[3]

(2) gor|

(3) oty T (4) vch

The primitive prokaryotes responsible for the production of biogas from the dung of ruminant

animals, include the:
(1) Halophiles
(3) Methanogens

(2) Thermoacidophiles
(4) Eubacteria

g amfew wrda=at yrft, S el Sgell & MR | Iana—Ides & foy Strerl 8 2, fhas siasta oma €7

(1) IR &
(3) MR B
[3]

(2) dmu—sra Al &
(4) gofrarogsii &
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178.

178.

Ans.

179.

179.

Ans.

180.

180.

Ans.

A river with an inflow of domestic sewage rich in organic waste may result in:
(1) Drying of the river very soon due to algal bloom.

(2) Increased population of aquatic food web organisms.

(3) An increased production of fish due to biodegradable nutrients.

(4) Death of fish due to lack of oxygen.

TP 4] H OId Bfd URTE § MR BRefdlied dol g8hx Ral 81, a1 SHH! URvmH w1 gIvm?
(1) ¥aTd THTH & HRO Al STeal & & Sl |

(2) STefia Ao &) wefe § afg & S|

(3) TSI UVl & HRU AGell BT SHUEH §¢ ST |

(4) SRS B FH S HROT ABferd AR ST |

[4]

A cell at telophase stage is observed by a student in a plant brought from the field. He tells his
teacher that this cell is not like other cells at telophase stage. There is no formation of-cell plate
and thus the cell is containing more number of chromosomes as compared to other dividing cells.
This would result in:

(1) Aneuploidy (2) Polyploidy

(3) Somaclonal variation (4) Polyteny

WA W A Y TP UISY BIRIGT H Uh faenl g1 sicuraren S R | 98 Jue Riefd & wEdl ¥ & I8 S sraRe W
I PIRGRT & A 2| 39H PIRGT ©ic T8 9901 R S BRI §9 PIRGI H = AU arell SIRIERT &1 amer
e U € | $PT TROTH R BIM?

(1) srgafor (2) wgaforr
(3) s faff=ran (4) sgugan
[2]

A typical fat molecule is made up of:

(1) Three glycerol molecules and one fatty acid molecule
(2) One glycerol and three fatty acid molecules

(3) One glycerol and one fatty acid molecule

(4) Three glycerol and three fatty acid molecules
T Tl 991 BT Y] fhAST 91 B 27

(1) F TeIRIRIS S7Uf3l 3R Y a1 3T (] Bl

(2) U TelIERId MY AR T T A AT B

(3) U TeliRRlel SR Yo a1 37l Y DI

(4) TF TR SR A9 G4 3% 703l Bl

[2]



